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Q1) Attempt ANY THREE of the following in about 100 words each: [15]

a) How did Indira Nooyi maintain a balance between her personal and
professional responsibilities?

b) What changes did Indira Nooyi bring in the Pepsi Co?

c) Describe Sudha Murthy’s encounter with JRD Tata?

d) Attempt a character sketch of Sudha Murthy.

e) What comic elements does Saki use to create humour in the story ‘Fur’?

Q2) Attempt ANY THREE of the following in about 100 words each: [15]

a) Examine how O, Henry builds suspense and provides a twist in the story
‘After Twenty Years’.

b) Attempt a character sketch of Jimmy Wells from the story ‘After Twenty
Years’.

c) Explain ‘O Captain! My Captain!’ as an elegy.

d) How does the poem ‘O Captain! My Captain!’ celebrate the achievements
of President Lincoln?

e) Elaborate on the poet’s reasons for desiring that his daughter’s mind be
free of hatred in ‘A Prayer for My Daughter’.

P.T.O.
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Q3) Attempt ANY TWO of the following: [20]

a) Write an application letter for the post of ‘Assistant Manager’ to The
Personnel Manager, Hotel Malabar Palace, Shastri Nagar, Jammu, consider
yourself as Amey Sharma from Himachal Pradesh, while writing a letter.

b) Write brief newspaper reports of two short paragraphs each to suit the
following headlines.
i) Theme park for children inaugurated
ii) Sitar Maestro honoured

c) What is ‘blog’ writing? Explain the tips for writing effective blog posts.

d) Write a resume for the post of ‘Computer Programmer’.

Q4) Attempt ANY FOUR of the following : [20]

a) You are Mr. Pradip Mishra, the mobile you bought two weeks ago from
Asia Electronics in Pune, is not working properly. Write an email to be
sent to the Manager of the company, making a complaint and asking for
it’s replacement.

b) Explain the important points to be followed while writing an email.

c) Write an email letter to the Manager of Joyville construction  to the email
id joyville 2022@gmail.com requesting him to update you regarding their
new projects and housing plans.

d) Explain the tips for effective communication.

e) What is kinesics?

f) Write a note on non-verbal communication.

.


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Q1) A) Fill in the Blanks (5 Out of 7) : [5]
i) _______ is the shortcut key for ledger creation.

a) Ctrl + C b) Alt + C
c) Alt + L d) Ctrl + A

ii) Electricity Expenses Ledger account is created under the _______
group.
a) Indirect Incomes b) Indirect Expenses
c) Capital d) Fixed Assets

iii) Receipts and Payments Account is a ________.
a) Nominal Account b) Personal Account
c) Real Account d) Capital Account

iv) Excess of expenditure over income of a Non-profit organization is
known as _________.
a) Loss b) Profit
c) Surplus d) Deficit

v) Under Average Profit Method; Goodwill = _________ x No. of
years purchase.
a) Super Profit b) Annuity Value
c) Average Profit d) Total Profit

vi) Goodwill is an ________ asset.
a) Tangible b) Intangible
c) Slow d) Current

vii) ____ refers to the value of reputation or name and fame of a business.
a) Capital b) Loan
c) Creditors d) Goodwill

SEAT No. :
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B) Match the Pair (5 Out of 7) : [5]
     Group 'A'        Group 'B'

i) Lapse of shortworkings a) Normal Rate of Return
ii) Royalty b) Gives exclusive rights to authors

of original work
iii) Lease Agreement c) An agreement between lessor

and lessee
iv) NRR d) When shortworkings cannot be

recouped
v) Copy Right e) Periodic Payment to owner for

using his asset
vi) Life Membership Fees f) Income & Expenditure A/c
vii) Revenue Receipts g) Capital Receipt

Q2) Write Short Notes (Any 2 out of 4) [10]
a) Approaches on valuation of intangible assets.
b) Features of income and expenditure account.
c) Explain with Example the term ‘Shotworkings’.
d) Explain in brief the term ‘Goodwill’.

Q3) Following is the Receipts and Payments Account of Residency Sports Club,
Raipur for the year ended 31st December, 2019. [8]

Receipts and payments Account for the year ended 31st December, 2019
   Dr. Cr.

Receipts Rs. Payments Rs.
To Balance B/D By Rent and Rates 4,600
i) Cash in Hand 1,500 By Stationery Expenses 1,300
ii) Cash at Bank 9,000 By Printing 1,800
To Entrance Fees 1,250 By Salaries 9,900
To Membership Fees 1,000 By Repairs to Furniture 900
To Subscriptions 16,800 by Honorarium to Secretary 3,600
To Miscellaneous Receipts 500 By Other Expenses 600
To Locker Rent 4,600 By Telephone Charges 750
To Non-Members Fees 2,000 By Insurance 1,000
To Social Events Receipts 1,350 By Social Events Expenses 200

By Balance C/D
i)    Cash in Hand 350
ii)   Cash at Bank 13,000

Total 38,000 Total 38,000
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Additional Information :
a) Subscriptions of Rs. 3,000 is outstading for 2019.
b) Entrance Fees and Membership Fees are to be treated as capital receipts

in full.
You are required to prepare Income and Expenditure Account for the year
ended 31st December, 2019.

Q4) Janseva Traders, Kolhapur has earned competeble profits, after providing for
taxation, during the last five years as under : [7]
Years 2016 2017 2018 2019 2020
Profits (Rs.) 40,000 41,000 47,000 46,000 46,000
The Capital Employed in the Business Rs. 4,00,000 on which the reasonable
rate of return of 10% is expected.
Calculate the Value of Goodwill as per
a) Capitalisation of Average Profit Method and
b) Capitalisation of Super Profit Method.

Q5) B Ltd. leased a piece of Land from A Ltd. for fifteen years from 1st January,
2018 on the following terms :
a) B Ltd. shall pay a Minimum Rent of Rs. 60,000 for the first year with an

annual increase of Rs. 2,000 per year in every subsequent year.
b) Royalty to be paid at Rs. 5 per ton of coal raised.
c) Shortworkings are to be recouped in the first three years of Royalty

Agreement.
d) The Actual output for the first four years was as follows :

Years 2018 2019 2020 2021
Output (Tons) 8,000 10,000 14,000 16,000
i) Prepare Working Table [7]
ii) You are required to Pass Necessary Journal entries for two years in

the books of A Ltd. i.e. Landlord only. [8]


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Q1) A) Fill in the Blanks (any 5) : [5]
i) The cost per unit means the _______ cost.

(Fixed Cost, Average Cost, Marginal Cost, Total Cost)
ii) In _______ the demand curve horizontal to 'OX' axis.

(Monopoly, Oligopoly, Duopoly, Perfect Competition)
iii) In _______ market type firm and industry are not different.

(Monopoly, Perfect Competition, Imperfect Competition, Monopolistic
Competition)

iv) The concept of 'Group balance' is studied in _______ market.
(Perfect Competition, Monopoly, Monopolistic Competition, Duopoly)

v) _______ is the income which goes to the owner of capital.
(Rent, Quasi rent, Interest, Profit)

vi) Profit is the income received to the _________.
(Land, Labour, Capital, Organiser)

B) Match the following pairs. [5]
       Group 'A'          Group 'B'

i) Economic Cost a) Product Differentiation
ii) Perfect Competition b) Kinky Demand Curve
iii) Monopoly c) Fictional Concept
iv) Monopolistic Competition d) Explicit Cost + Implicit Cost
v) Oligopoly e) Price Discrimination

SEAT No. :
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Q2) Explain the short-run and long-run cost curves with diagrams. [15]

Q3) What is mean by perfect competition? Explain the features of perfect
competition. [15]

Q4) What is mean by monopoly? Explain the features of monopoly. [15]

Q5) Explain the Ricardian theory of rent. [15]

Q6) Write Short Notes on (Any Three) : [15]
a) Average Cost and Marginal Cost
b) Firm and Industry
c) First degree price discrimination
d) Duopoly
e) Transfer earnings


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àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]
i) àVr ZJmbm òUmam IM© åhUOo ............. hmò .

(pñWa IM©, gamgar IM©, gr_m§V IM©, EHy$U IM©)
ii) .......... _mJUr dH¥$ hm "Aj' AjmU g_m§Va AgVmo.

(_ŠVoXmarV, Aën{dH¥o$Vm{YH$mamV, {Û{dH¥o$Vm{YH$mamV, nyU© ñnY}V)
iii) ............. `m ~mOma àH$mamV CÚmoJg§ñWm Am{U CÚmoJ `mV ôX Ho$bm OmV Zmhr.

(_ŠVoXmar, nyU© ñnYm©, AnyU© ñnYm©, _ŠVoXmar ẁŠV ñnYm©)
iv) "g_wh g_Vmob' hr g§H$ënZm ............. ~mOmamV Aä`mgbr OmVo.

(nwU© ñnYm©, _ŠVoXmar, _ŠVoXmar ẁŠV ñnYm©, {Û{dH¥o$Vm{YH$ma)
v) ............ ho ^m§S>dbmÀ`m _mbH$mbm {_iUmao CËnÝZ hmò .

(I§S>, Am^mg I§S>, ì`mO>, Z\$m)
vi) Z\$m ho ............. bm {_iUmao CËnÝZ AgVo.

( ŷ_r, l_, ^m§S>db, g§̀ moOH$)
~) `mo½` OmoS>`m bmdm. [5]

JQ> "A' JQ> "~'
i) Am{W©H$ IM© A) dñVŷ oX
ii) nyU© ñnYm© ~) ~mH$Xma _mJUr dH¥$
iii) _ŠVoXmar H$) H$mën{ZH$ g§H$ënZm
iv) _ŠVoXmar ẁŠV ñnYm© S>) ì`ŠV IM© + Aì`ŠV IM©
v) Aën{dH¥o$Vm{YH$ma B) _wë`^oX

P.T.O.
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àíZ 2) AënH$mbrZ Am{U XrK©H$mbrZ IM© dH¥$mMo AmH¥$Vrgh ñnï>rH$aU H$am. [15]

àíZ 3) nyU© ñnYm© åhUOo H$m`? nyU© ñnY}Mr d¡{eï>ço ñnï> H$am. [15]

àíZ 4) _ŠVoXmar åhUOo H$m`? _ŠVoXmarMr d¡{eï>ço ñnï> H$am. [15]

àíZ 5) [aH$mS>m}Mm I§S> {gÕm§V ñnï> H$am. [15]

àíZ 6) Q>rnm {bhm. (H$moUË`mhr VrZ) [15]
A) gamgar IM© Am{U gr_m§V IM©

~) CÚmoJg§ñWm Am{U CÚmoJ

H$) n{hë`m XOm©Mm _yë` ôX

S>) {Û{dH¥o$Vm{YH$ma

B) ~Xbr CËnÝZ


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Q1) A) Fill in the blanks: (any 5) [5]
a) Transpose of a rectangular matrices is a _________

(rectangular matrices, diagonal matrices, square matrices)

b) Linear programming model which involves funds allocation of limited
investment is classified as ______

(ordination budgeting model, capital budgeting, fund investment
models)

c) In simple linear regression the numbers of unknown constants are
_____

(One, Two, Three)

d) Index numbers are expressed in _______

(ratios, squares, percentages)

e) An Index number is used ______

(To measures change in policies, To measures change in environment,
To measures change in variables over a period of time)

f) Regression analysis ______

(measures time, establishes cause and effects, measures efficiency)

B) State the following statements are ‘True’ or ‘False’: (any five) [5]
a) The term “determinant” and “matrices” have the same meaning.
b) The following constraints are linear x + 2y ≤ 20 and 2x + y ≤ 40.

c) One can always find the determinant of a Matrix.

d) Correlation measures the strength of the association between two
variables.

e) There are no limitations of Index number.

f) Index number is an economic barometer.

P.T.O.
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Q2) Solve any three from the following. [15]
a) Write down the matrices of the following sets of equations. State their

orders.

i) x + 2y − z = 2

2x − 5y + 6z =3

ii) x + z = 4

x + y + z =6

2y + z =5

b) Two different kinds of foods A and B are being considered to form a
weekly diet. The minimum weekly requirements of fats, carbohydrates
and proteins are 18, 24 and 24 units respectively. One kg of food A
contains 4, 16 and 8 units of fats, carbohydrates and proteins respectively.
One kg of food B contains 12, 4 and 6 units of fats, carbohydrates and
proteins respectively. The prices of food A is H4 per kg and that of B is
H3 per kg. Find the quantity food A and B to be purchased so that the
total cost is minimum and the requirement is fullfilled.

Formulate the problem as L.P.P.

c) Calculate Price Index numbers for the following data for the year 2019
taking 2018 as base year as per Laspeyre’s Index number.

Commodity Year 2018 Year 2019

Price Quantity Price Quantity
A 20 8 40 6

B 50 10 60 5

C 40 15 50 10

D 20 20 20 15

d) What is the meaning of ‘Matrices’? Explain the types of Matrices.

e) What is the meaning of ‘Correlation’? State the methods to measure
correlation.

Q3) Solve any three from the following. [15]
a) Evaluate the following Determinant

Let D = 

4 3 2

1 2 1

3 1 2

−

−
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b) Show that the following L.P.P. by graphical method.

Maximize Z = 2x + y

Subject to x + y ≤ 30

         2x + y ≤ 40

         x, y ≥ 0

c) Calculate the Index number using Fishers method for the following data.

     Years 1980 1985

Commodities Price Quantity Price Quantity

Rice 3 5 4.5 6

Coconut oil 24 2 18 3

Tea 20 1 35 2

Washing Powder 10 4 16 4

Sugar 3.5 4 6 5

d) Explain the concept of Regression. Discuss the Regression line.

e) Write Note on ‘Construction of Index Numbers’.

Q4) Solve any three from the following. [15]
a) Find the inverse of following Matrices:

A = 
4 2

1 2

 
 
 

b) A small farmer builds two types of garden shed. Type A requires 2 hours
of machine time and 5 hours of craftsman time. Type B requires 3 hours
of machine time and 5 hours of craftsman time. Each clay there are 60
hours of machine time and 80 hours of craftsman time available. The
profit on each type of A shed is H160 and each type of B shed is H184.

Formulate L.P.P. assuming that all garden sheds are sold.

c) A study of wheat prices at Mumbai and Kanpur yield the following data.

Particulars Mumbai Kanpur

Arithmetic Mean H 35 H 36

Standard deviation H 0.326 H 0.207

Correlation coefficient between the prices at Mumbai and Kanpur
is 0.774. Estimate the price at Kanpur if the price at Mumbai is H 40
using the above data.
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d) Define the linear programming problems. State the key terms in L.P.P.

e) Explain the concept and use of Price Index Number.

Q5) a) Following are the value of import of raw Material and export of finished
product in suitable units. [10]

Export 10 11 14 14 20 22 16 12 15 13

Import 12 14 15 16 21 26 21 15 16 14

Calculate the coefficient of correlation between the Import and Export
values.

b) Multiplication of Matrices. [5]

2 1 1 2 1
Let A , B

2 3 4 2 5

−   
= =   −   

OR

Given the following data:

Particulars Marks in Mathematics Marks in English

Mean 80 50

Standard Deviation 15 10

The correlation coefficient between marks in Mathematics and English is - 0.4.

Estimate the marks in Mathematics obtained by student who scored 60
marks in English.


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Q1) A) Fill in the blanks (Any 5 out of 6): [5]

i) _______ helps to simplify the business processes and makes them
faster and efficient.

a) E-commerce b) Local markets

c) Work d) Markets

ii) EDI uses a range of secure protocols to facilitate the secure exchange
of EDI ____________.

a) formats b) folders

c) files d) documents

iii) ________ banking allows a user to conduct financial transactions
via the internet.

a) Offline b) Secured

c) Online d) Rapid

iv) ___________ services are forms of contactless, cashless and paper
less payment methods.

a) Physical b) Digital payment

c) Inbound d) Outbound

v) Digital signature is a specific type of ___________.

a) Fingerprints b) Signature

c) Handprints d) Marks

vi) Debit cards eliminate the need to carry ___________.

a) bank b) cash

c) metal d) plastic

P.T.O.
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B) Match the following: [5]

i) E-CRM - E-currency

ii) RTGs money transfer - Local Area Network

iii) Digital cash - Electronic Customer Relationship
Management

iv) LAN - Physical arrangement of computers

v) Topology - happens in real time

Q2) What is E-commerce? Explain technologies used in E-commerce systems.[15]

Q3) What is E-marketing? Explain the merits and demerits of E-marketing. [15]

Q4) What is Customer Relationship Management? Explain the need of electronic
customer relationship management. [15]

Q5) What is Supply Chain Management? Explain in detail functions of supply
chain management. [15]

Q6) Short Notes (Any three out of five): [15]

a) Need of M-commerce.

b) Online Payment System.

c) Digital signature.

d) Steps to Design a website.

e) Electronic Customer Relationship Management.


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à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (ghmn¡H$s H$moUË`mhr nmM) [5]

i) ì`mdgm{`H$ à{H«$`m A{YH$ gmoß`m H$aÊ`mgmR>r d Ë`m§Zm J{V_mZ d H$m ©̀j_ H$aÊ`mgmR>r
............ _XV H$aVo.
A) B©-H$m°_g© ~) ñWm{ZH$ ~mOma
H$) H$m_ S>) ~mOmanoR>m

ii) B©S>rAmB© Mr gwa{jV XodmU-KodmU nwa{dÊ`mgmR>r B©S>rAmB© ho gwa{jV àmoQ>moH$m°bMr loUr
dmnaVmo ..............
A) Z_yZo ~) \$mobS>g©
H$) \$mB©ëg S>) H$mJXnÌ (S>moŠ ỳ_|Q>)

iii) ........... ~±qH$J ho dmnaH$Ë`mªZm Am{W©H$ ì`dhma ho BªQ>aZoQ>À`m _mÜ`_mVyZ H$aÊ`mMr
_ŷ m / nadmZJr XoVo.
A) Am°\$bmB©Z ~) gwa{jV
H$) Am°ZbmB©Z S>) ObX

iv) ............. godm `m g§nH©$ {da{hV, amoH$S> {da{hV d H$mJX {da{hV n¡go AXm H$aÊ`mMo
àH$ma AmhoV.
A) ^m¡{VH$ ~) {S>OrQ>b no_|Q>
H$) A§VJm©_r S>) ~{h©Jm_r

v) {S>OrQ>b {g½ZoMa hm ................ Mm EH$ {d{eï> àH$ma Amho.
A) ~moQ>m§Mo R>go ~) g{h
H$) hmVmMo R>go S>) {MÝh

vi) S>o{~Q> H$mS>© _wio ............... ~miJÊ`mMr JaO ahmV Zmhr.
A) ~±H$ ~) n¡go
H$) YmVy S>) ßb°pñQ>H$
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~) OmoS>çm bmdm. [5]

i) B©-gr Ama E_ - B©-MbZ (B©-H$a§gr)

ii) Ama.Q>r.Or.Eg. À`m gmømZo n¡go hñVm§Va - bmoH$b E[a`m ZoQ>dH©$

iii) {S>OrQ>b H°$e (n¡go) - B©boŠQ´>m°{ZH$ H$ñQ>_a [aboeZ{en _°ZoO_|Q>

iv) b°Z (Eb.E.EZ.) - g§JUH$m§Mr ^m¡{VH$ _m§S>Ur

v) Q>monmobm°Or - àË`j doir KSy>Z òVo

à.à.à.à.à.2) B©-H$m°_g© åhUOo H$m`? B©-H$m°_g© àUmbr_Ü ò dmnaÊ`mV òUmao V§ÌkmZ ñnï> H$am. [15]

à.à.à.à.à.3) B©-_mH}$qQ>J / {dnUZ åhUOo H$m`? B©-_mH}$qQ>JMo JwU/\$m`Xo d VmoQ>o ñnï> H$am. [15]

à.à.à.à.à.4) J«mhH$ g§~§Y ì`dñWmnZ åhUOo H$m`? B©boŠQ´>m°{ZH$ (H$ñQ>_a) J«mhH$ g§~§Y ì`dñWmnZmMr JaO ñnï>
H$am. [15]

à.à.à.à.à.5) nyadR>m gmIir ì`dñWmnZ åhUOo H$m`? nyadR>m gmIir ì`dñWmnZmMr H$m }̀ g{dñVa ñnï> H$am.[15]

à.à.à.à.à.6) {Q>nm Xçm. (nmMn¡H$s H$moUVohr VrZ) [15]

A) E_-H$m°_g©Mr JaO

~) Am°ZbmB©Z no_|Q> àUmbr

H$) {S>OrQ>b {g½ZoMa

S>) do~gmB©Q> V`ma H$aÊ`mÀ`m nm`è`m

B) B©boŠQ´>m°{ZH$ J«mhH$ g§~§Y ì`dñWmnZ


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Q1) A) Fill in the Blanks (any Five) : [5]
i) The qualifications which a successful office manager should

possess ________.
a) Education and training b) Experience
c) Personal qualities d) All of the above

ii) The essential qualities of an office manager_______
a) Sound judgment b) Professional interest
c) Accounting d) Secretarial services

iii) Why need for time management?
a) Time is limited b) Urgent things
c) Act d) Resource

iv) ________ is refers to assigning specific time slots to activities.
a) Business management b) Time management
c) Production management d) Purchase management

v) A _________ is a device that optically scans images, printed text,
handwriting, or an object.
a) Scanner b) Photo-copying machine
c) Printers d) None of the above

vi) Office automation means the use of ________ systems.
a) Computer b) Software
c) Communication d) Administrative

SEAT No. :

P.T.O.
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B) Match the following. [5]
i) Goal setting a) Core thinking skill
ii) Office Standardisation b) Labour saving
iii) Focusing c) Preliminary planning
iv) Mechanisation d) SMART
v) First step in work measurement e) Ensures greater economy

Q2) Define the term Time Management. Explain the Techniques of Time Management.
[15]

Q3) What is Office Communication? Explain the Significance of Office
Communication. [15]

Q4) What do you mean by Standardisation of Office Work? Explain the Advantages
and Limitations of Standardisation. [15]

Q5) Explain in detail the different types of modern appliances used in the office.[15]

Q6) Write Short Notes (Any Three) : [15]
a) Functions of Office Manager
b) Barriers to Effective Communication
c) Motion Study
d) Disadvantages of Mechanisation
e) Skills Required for an Office Manager


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àíZ 1) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) `eñdr H$m`m©b` ì`dñWmnH$mH$S>o ............. nmÌVm AgUo Amdí`H$ Amho.

A) {ejU Am{U à{ejU ~) AZŵ d
H$) d¡̀ {ŠVH$ JwU S>) darb gd©

ii) H$m`m©b` ì`dñWmnH$mMo Amdí`H$ JwU ..............
A) `mo½` {ZU©̀ ~) ì`mdgm{`H$ ñdmañ`
H$) boIm S>) g{Mdr` godm

iii) doi ì`dñWmnZmMr JaO H$m Amho?
A) doi _`m©{XV Amho ~) VmVS>rÀ`m Jmoï>r H$aÊ`mgmR>r
H$) H$m`Xm S>) g§gmYZ

iv) ............ åhUOo CnH«$_m§Zm {d{eï> doi CnbãY H$ê$Z XoUo hmò .
A) ì`dgm` ì`dñWmnZ ~) doioMo ì`dñWmnZ
H$) CËnmXZ ì`dñWmnZ S>) IaoXr ì`dñWmnZ

v) .............. ho Ago CnH$aU Amho Oo à{V_m, _w{ÐV _OHy$a, hñVboIZ qH$dm EImXr dñVw
ñH°$Z H$aVo.
A) ñH°$Za ~) \$moQ>mo H$m°nr H$aUmao _erZ
H$) qàQ>a S>) darbn¡H$s H$mhrhr Zmhr

vi) H$m`m©b` ñd §̀MbrH$aU åhUOo .............. àUmbrMm dmna hmò .
A) g§JUH$ ~) gm°âQ>doAa
H$) g§àofU S>) àemgH$s`
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~) OmoSçm Owidm. [5]

i) Ü ò̀  {ZpíMVr A) _w»` {dMma H$m¡eë`
ii) H$m`m©b` _mZm§H$sH$aU ~) l_ ~MV
iii) bj H|${ÐV H$aUo H$) àmW{_H$ {Z`moOZ
iv) `m§{ÌH$sH$aU S>) SMART Ü ò̀
v) H$m_mÀ`m _moO_mnmMr n{hbr nm`ar B) _moR>r AW©ì`dñWm gw{ZpíMV H$aVo

àíZ 2) doioMo ì`dñWmnZ `m g§koMr ì`»`m gm§JyZ Ë`mMr {d{dY V§Ìo ñnï> H$am. [15]

àíZ 3) H$m`m©b`rZ g§XoedhZ åhUOo H$m`? H$m`m©b`rZ g§XoedhZmMo _hËd ñnï> H$am. [15]

àíZ 4) H$m`m©b`rZ H$m`m©Mo _mZH$sH$aU åhUOo H$m`? _mZH$sH$aUmMo \$m`Xo d _`m©Xm ñnï> H$am.[15]

àíZ 5) H$m`m©b`rZ dmnamVrb AmYw{ZH$ gmYZm§Mo {d{dY àH$ma g{dñVa ñnï> H$am. [15]

àíZ 6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) H$m`m©b`rZ ì`dñWmnH$mMr H$m }̀

~) à^mdr g§XoedhZmVrb AS>Wio

H$) JVr Aä`mg

S>) `m§{ÌH$sH$aUmMo VmoQ>o

B) H$m`m©b`rZ ì`dñWmnH$mg Amdí`H$ AgUmar H$m¡eë ò





Q1) A) Fill in the Blanks (Any Five) : [5]

i) Indian Bank have to prepare their Balance sheet according to ___

a) Banking Regulation Act 1949

b) Reserve Bank Act

c) Negotiable instrument Act

d) Indian Bank Act

ii) Bank should primarily consider the ______ of the investment
made by the Bank.

a) Diversification of Risk b) Liquidity

c) Profitability d) Safety

iii) Who is the primarily liable on a promissory Note?

a) Holder b) Maker

c) Drawee d) Endorser

iv) If the Endorser signs only, the Endorsement is said to be _____

a) Blank Endorsement b) Conditional Endorsement

c) Full Endorsement d) Special Endorsement

Total No. of Questions : 6]
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v) Which section of Negotiable Instruments Act deals with the Bill
of Exchange?

a) Section 4 b) Section 5

c) Section 6 d) Section 7

vi) In the Net Banking operations the OTP stands for ______

a) Out Time Password b) On Time Password

c) One Time Password d) Over Timed Password

B) Match the following : [5]

i) CIBIL a) bill of Exchange

ii) CARE b) Empowering You

iii) Negotiable Instrument c) Payable to Bearer

iv) Blank Endorsement d) Pay later

v) Credit card e) IDBI

Q2) Explain the Lending principles of a Bank. [15]

Q3) What is Negotiable Instruments? Explain the types of Negotiable Instruments.
[15]

Q4) What is Endorsement? Explain the types of Endorsement. [15]

Q5) Explain the Trends in Banking Technology in India. [15]

Q6) Write Short Notes (Any Three) : [15]

a) Factors that effect on CIBIL score.

b) Dishonor of cheque.

c) Essentials of a valid Endorsement.

d) Net Banking.

e) Types of crossing.


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2) àíZ H«$_m§H$ 2 Vo 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dmdo.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P2882

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]

i) ^maVr` ~±H$m§Zm Ë`m§Mm Vmio~§X ....... Zwgma V`ma H$amdm bmJVmo.

A) ~±{H$J {Z`_Z H$m`Xm 1949

~) [aPìh© ~±H$ H$m`Xm

H$) MbZj_ XñVEodO H$m`Xm

S>) B§{S>`Z ~±H$ H$m`Xm

ii) ~±Ho$Zo Jw§VdUyH$ H$aVmZm .............. ̀ m VËdmMm àmYmÝ`H«$_mZo {dMma Ho$bm nm{hOo.

A) Omo{I_rMo {d{dYrH$aU ~) VabVm

H$) Z\$mj_Vm S>) gwa{jVVm

iii) dMZnÌmg àm_w»`mZo H$moU O~m~Xma AgVmo?

A) YmaH$ ~) G$UH$mo/{Z_m©Vm

H$) AmXoerVr S>) n¥ð>m§H$H$

iv) Ooìhm n¥ð>m§H$H$ XñVEodOmda \$º$ ghr H$aVmo Aem n¥ð>m§H$Zmbm ........... åhUVmV.

A) H$moao n¥ð>m§H$Z ~) geV© n¥ð>m§H$Z

H$) nyU© n¥ð>m§H$Z S>) {deof n¥ð>m§H$Z

3 P.T.O.
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v) MbZj_ XñVEodO H$m`ÚmVrb H$moUVo H$b_ {d{Z_` nÌmer g§~§{YV Amho?

A) H$b_ 4 ~) H$b_ 5

H$) H$b_ 6 S>) H$b_ 7

vi) ZoQ> ~±qH$J dmnamVrb AmoQ>rnr (OTP) åhUOo ..........

A) AmD$Q> Q>mB©_ nmgdS>© ~) Am°Z Q>mB©_ nmgdS>©

H$) dZ Q>mB©_ nmgdS>© S>) Amoìha Q>mB©_ nmgdS>©

~) OmoS>çm bmdm. [5]

i) CIBIL ({g{~b) A) {d{Z_` nÌ

ii) CARE ~) Eånm°d[a¨J ỳ

iii) MbZj_ XñVEodO H$) dmhH$Xò  XñVEodO

iv) H$moao/[aº$ nwð>m§H$Z S>) Z§Va n¡go Úm

v) H«o$S>rQ> H$mS>© B) IDBI

àíZ àíZ àíZ àíZ àíZ 2) ~±H$ ì`dgm`mMr _wb ŷV VËdo g{dñVa ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) MbZj_ XñVEodO åhUOo H$m`? MbZj_ XñVEodOmMo àH$ma ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) n¥ð>m§H$Z åhUOo H$m`? n¥ð>m§H$ZmMo àH$ma ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) ^maVmVrb ~±H$ V§ÌkmZmVrb AmYw{ZH$ àdmh ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) {g{~b ñH$moAadb n[aUm_ H$aUmao KQ>H$

~) YZmXoemMm AZmXa

H$) n¥ð>m§H$ZmÀ`m H$m`Xoera VaVwXr

S>) ZoQ> ~±qH$J

B) aoIm§H$ZmMo àH$ma


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Q1) Write the answers of following questions in 20 words (any eight) [16]

a) What is a Footloose industry?

b) Write examples of impure raw materials.

c) In what year did the German economist Alfred Weber propose the  theory
of Industrial Location?

d) What is the trade between different parts of the same country called?

e) What is the transportation?

f) Write the names of any two companies providing mobile facilities in
India.

g) Name any two natural factors that affect tourism activity.

h) When and where the World Tourism Organization (WTO) was established?

i) Write a definition of cartography.

j) State any two advantages of Isoplath maps.

P.T.O.
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Q2) Write a short note in about 50 words each (Any three). [18]

a) Sugar Industry in Maharashtra.

b) Air Transport.

c) Growth of the Tourism Industry in India.

d) Advantages and disadvantages of bar graph.

Q3) Write the answer to the following questions in 100 words. (Any Two) [16]

a) Explain the growth and development of information and technology
industry in India.

b) Explain the advantage and disadvantage of water transport.

c) Explain the problems facing the tourism industry.

Q4) Write the answers to the following questions in 300 words. (Any one) [20]

a) Write a report on railway transport in India.

b) State the factors that affect trade.





3[5801]-208
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COMMERCIAL GEOGRAPHY - II
125 C :  Elements of Commercial Geography

(CBCS 2019 Pattern) (Semester - II)

 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>mì¶mV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P2883

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) nX‘wº$ CÚmoJ åhUOo H$m¶?

~) AewÕ H$À¶m ‘mbmMr CXmhaUo {bhm.

H$) Aë’o«$S> do~a ¶m O‘©Z AW©emókmZo Am¡Úmo{JH$ ñWmZ {ZpíMVr {gÕm§V H$moUË¶m dfu ‘m§S>bm?

S>) EH$mM XoemÀ¶m doJdoJù¶m {d^mJmVrb hmoUmè¶m ì¶mnmambm H$m¶ åhUVmV?

B) dmhVyH$ åhUOo H$m¶?

’$) ^maVmV ‘mo~mB©b gw{dYm XoUmè¶m H$moUË¶mhr XmoZ H§$nÝ¶m§Mr Zmdo {bhm.

¶) n¶©Q>Z {H«$¶mda n[aUm‘ H$aUmao H$moUVohr XmoZ àmH¥${VH$ KQ>H$ gm§Jm.

a) dëS>© Qw>[aP‘ Am°J©Zm¶PoeZ (W.T.O.) Mr ñWmnZm H$Yr d H$moR>o Pmbr?

b) ZH$mem emñÌmMr ì¶m»¶m {bhm.

d) g‘‘wë¶ aofm ZH$memMo H$moUVohr XmoZ ’$m¶Xo gm§Jm.

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V {Q>nm {bhm (H$moUË¶mhr VrZ) [18]

A) ‘hmamï´>mVrb gmIa CÚmoJ.

~) hdmB© dmhVyH$.

H$) ^maVmVrb n¶©Q>Z CÚmoJmMr dmT>.

S>) ñV§̂ mboImMo ’$m¶Xo d VmoQ>o.
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ^maVmVrb ‘m{hVr d V§ÌkmZ CÚmoJmMr dmT> d {dH$mg gm§Jm.

~) Ob dmhVyH$sMo ’$m¶Xo d VmoQ>o {deX H$am.

H$) n¶©Q>Z CÚmoJmg‘moarb g‘ñ¶m gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXmV CÎmao {bhm (H$moUVohr EH$) [20]

A) ^maVmVrb aoëdo dmhVwH$sMm d¥Îmm§V {bhm.

~) ì¶mnmamda n[aUm‘ H$aUmao KQ>H$ gm§Jm.


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SEAT No. :

Q1) Attempt any five of the following. [5×2=10]

 a) Define war.

 b) Define intelligence.

c) Define economical warfare.

d) What is economic mobilization?

e) Define counterintelligence.

f) State the Causes of war.

Q2) Attempt any four short note of the following. [4×5=20]

a) Defence Organization.

b) Defence Management.

c) Intelligence.

d) War.

e) Economic Warfare.

P.T.O.



2[5801]-209

Q3) Attempt any four of the following. [4×5=20]

a) Write the types of Intelligence.

b) State the Remedy of war time Economy.

c) Explain the Resources of war.

d) Explain the War time Economy.

e) Explain the Indian Internal Security.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail Economic Influence on State & Center Relations.

b) Explain in detail principles of Intelligence.

c) Explain in detail Elements of war.


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125(D) : DEFENCE ORGANIZATION AND MANAGEMENT IN INDIA
(2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) ¶wÕmMr ì¶m»¶m H$am.

~) B§Q>o{bOÝgMr ì¶m»¶m H$am.

H$) Am{W©H$ ¶wÕmMr ì¶m»¶m H$am.

S>) Am{W©H$ J{V‘mZVm H$m¶ Amho?

B) H$mC§Q>a B§Q>o{bOÝgMr ì¶m»¶m H$am.

’$) ¶wÕmMr H$maUo gm§Jm.

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) g§ajU g§ñWm

~) g§ajU ì¶dñWmnZ

H$) B§Q>o{bOÝg

S>) ¶wÕ

B) Am{W©H$ ¶wÕ
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) B§Q>o{bOÝgMo àH$ma {bhm.

~) ¶wÕH$mbrZ AW©ì¶dñWoMm Cnm¶ gm§Jm.

H$) ¶wÕmMr g§gmYZo ñnï> H$am.

S>) ¶wÕH$mimVrb AW©ì¶dñWm ñnï> H$am.

B) ^maVr¶ A§VJ©V gwajm ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) amÁ¶ Am{U H|$Ð g§~§Ym§darb Am{W©H$ à^md Vnerbdma ñnï> H$am.

~) B§Q>o{bOÝgMr ‘wbVËdo Vnerbdma g§mJm.

H$) ¶wÕmÀ¶m KQ>H$m§Mo Vnerbdma dU©Z H$am.


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3) Figures to the right indicate full marks.
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SEAT No. :

Q1) A) Fill in the blanks: (Any 5) [5]

i) Interest Rate of Deposits of a co-operative credit societies are fixed
by ___________.

a) RBI

b) General body

c) Registar

ii) Rebort owen, Dr. William king, Loui Luzzatti, Louis Blanc are
examples of some of the _________.

a) Economists

b) Co-operative leaders

c) Business men

iii) ________ Indian Business and industry free from unnecessary
restrictions.

a) Privalization

b) Liberalization

c) Disinvestment

iv) NCUI stands for __________.

a) National Central Union of India

b) National Co-operative Union of India

c) National Council for Co-operation in India

P.T.O.
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v) ________ structure is followed by co-operatives society in India.
a) Federal structure
b) Unitory structure
c) Centralized structure

vi) _______ is based on the principle of self - help through mutual
help abolition of profits and service above  self - help.

a) co-operation

b) Capitalism

c) Socialism

B) Match the Pairs: [5]
i) MRTPA a) 1904
ii) Co-operation credit society Act b) 1963
iii) Liberalization c) 1962
iv) NCDC setup d) 1991
v) NCDC Act e) 1969

f) 1964

Q2) What is co-operative society? Explain the weaker section in co-operatives.[15]

Q3) What is co-operative management? Write in detailed management structure of
co-operative management. [15]

Q4) What is privatization? Explain the Impact of privatization on co-operative
movement. [15]

Q5) What do you mean by NCUI? Explain the objectives of NCUI. [15]

Q6) Short Notes: (any three) [15]
a) Rural and urban co-operatives.
b) Role of chairman of co-operative management.
c) Liberalization Impact of co-operative movement.
d) Regional Institute of co-operative management.
e) Management committee in co-operatives.


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CO-OPERATION - II
125 E : Theory and Practice of Co-operation - II

(2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo Amdí¶H$ AmhooV.
2) àíZ H«$. 2 Vo 5 n¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P2885

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) ghH$mar nVg§ñWoÀ¶m R>odtMo ì¶mOXa ........... H$Sy>Z {ZpíMV Ho$bo OmVmV.

A) Ama. ~r. Am¶.

~) OZab ~m°S>r

H$) {Z~§YH$

ii) am°~Q>© AmodoZ, {dë¶‘ qH$J, bwB© bwPmQ²>Q>r, bwB© ãb°H$ hr ............... Mr CXmhaUo AmhoV.

A) AW©emñÌk

~) ghH$mar ZoVo

H$) ì¶mnmar nwê$f

iii) ^maVr¶ ì¶dgm¶ Am{U CÚmoJm§Zm AZmdí¶H$ {Z~ªYmnmgyZ ............. ‘wº$ H$aVo.

A) ImOJrH$aU

~) CXmarH$aU

H$) {ZJªwVdUyH$

iv) NCUI åhUOo ...........

A) Z°eZb g|Q´>b ¶w{Z¶Z Am°’$ B§{S>¶m

~) Z°eZb H$moAm°nao{Q>ìh ¶w{Z¶Z Am°’$ B§{S>¶m

H$) ^maVmVrb amï´>r¶ ghH$ma n[afX
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v) ................ g§aMZm ^maVmV ghH$mar g§ñWmZ§Va Amho.
A) ’o$S>ab g§aMZm
~) EH$mË‘H$ aMZm
H$) H|$ÐrH¥$V g§aMZm

vi) ............. ho nañna ‘XVrÛmao ñd‘XV, Z’$m aX²X H$aUo Am{U ñd¶§ ‘XVmnojm godm ¶m
VËdmda AmYm[aV Amho.
A) ghH$m¶©
~) ^m§S>dbemhr
H$) g‘mOdmX

~) OmoS>¶m Owidm [5]
i) MRTPA A) 1904
ii) ghH$mar nVg§ñWm H$m¶Xm ~) 1963
iii) CXmarH$aU H$) 1962
iv) NCDC setup S>) 1991
v) NCDC H$m¶Xm B) 1969

’$) 1964

à.à.à.à.à.2) ghH$mar g§ñWm åhUOo H$m¶? ghH$mamVrb Xþ~©b KQ>H$ gm§Jm. [15]

à.à.à.à.à.3) ghH$mar ì¶dñWmnZ åhUOo H$m¶? ghH$mar ì¶dñWmnZmMr aMZm g{dñVa {bhm. [15]

à.à.à.à.à.4) ImOJrH$aU åhUOo H$m¶? ImOJrH$aUmMm ghH$ma Midirda hmoUmam n[aUm‘ ñnï> H$am. [15]

à.à.à.à.à.5) NCUI åhUOo H$m¶? NCUI Mr C{Ôï>ço ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) J«m‘rU Am{U ehar ghH$mar g§ñWm
~) ghH$mar ì¶dñWmnZmÀ¶m AÜ¶jmMr ŷ{‘H$m
H$) ghH$mar Midirda CXmarH$aUmMm à^md
S>) àmXo{eH$ ghH$mar ì¶dñWmnZ g§ñWm
B) ghH$mamVrb ì¶dñWmnZ g{‘Vr





Q1) A) Fill in the blanks. Any Five (Compulsory Question) : [5]

i) The working of joint stock company is fully regulated by ______
act.

a) Government b) Companies

c) Private d) Industrial

ii) ________ enterprises mainly operate for public welfare.

a) Public b) Private

c) Foreign d) All of the above

iii) A company working in more than one country is known as
________.

a) National Company b) Domestic Company

c) Foreign Company d) Multinational Company

iv) Under _________ method of pricing the total cost is divided
into fixed cost and variable cost.

a) Marginal cost b) Opportunity cost

c) Average cost d) Variable cost

v) LIC is an example of _________.

a) Semi-Government b) Private Company

c) Public Company d) All of the above

Total No. of Questions : 8]

[Total No. of Pages : 4

[5801]-211
F.Y. B.Com. (Semester - II)

MANAGERIAL ECONOMICS - II
(2019 Pattern) (125 F)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q. No. 1 and Q. No. 8 are compulsory.
2) Attempt any 4 questions from Q. No. 2 to Q. No. 7.
3) Figures to the right indicate full marks.
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vi) The dividend on _________ shares is fixed.
a) Preference b) Equity
c) Debenture d) All of the above

B) State whether the following is True or False : Any Five (Compulsory
Questions) [5]
i) Account of the public limited company must be filed within a

year.
ii) Public corporation is a corporate body created by a special law of

the country.
iii) Scarce capital is one of the main weaknesses of developing

countries.
iv) MNCs create large-scale employment opportunities.
v) BHEL is one of the private sector enterprises.
vi) Cost and price of the product are not closely related.

Attempt any 4 questions from Q. No. 2 to Q. No. 7
Q2) Explain the merits and demerits of sole proprietorship. [12]

Q3) What is joint stock company? Explain its features. [12]

Q4) Describe the role of MNCs in India. [12]

Q5) Explain the various pricing methods. [12]

Q6) Spell out in detail importance of pricing. [12]

Q7) What is capital budgeting? Explain its nature. [12]

Q8) Write a Short note. (Any Two) [Compulsory Question] [12]
a) Features of sole proprietorship firm.
b) Advantages of private company.
c) Public corporation.
d) Profit maximization.





Total No. of Questions: 8]

[5801]-211
F.Y. B.Com. (Semester - II)

MANAGERIAL ECONOMICS - II
(2019 Pattern) (125 F)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) à. H«$. 1Am{U à. H«$. 8 A{Zdm ©̀ AmhoV.
2) à. H«$. 2 nmgyZ à. H«$. 7 n ª̀V H$moUVohr 4 àíZ gmoS>dm.
3) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

P4016

àíZ àíZ àíZ àíZ àíZ 1) A) Imbrb {Xbobm `m o½` n`m ©` {ZdSy >Z [aH$må`m OmJm ^am. (H$m oUVohr nmM)
(A{Zdm ©̀ àíZ) [5]
i) g§̀ wº$ ^m§S>db H§$nZrMo H$m_H$mO .................. H$m`X²̀ mA§VJ©V MmbVmo.

A) gaH$ma ~) H§$nZr
H$) ImOJr S>) Am¡X²`mo{JH$

ii) ............... H§$nZr _w»`Ëdo gmd©O{ZH$ H$ë`mUmgmR>rMm.
A) gmd©O{ZH$ ~) ImOJr
H$) naXoer S>) darb gd©

iii) Á`m H§$nZr EH$m nojm OmñV XoemV H$m_H$mO H$aVo ............... åhUVmV.
A) amï´>r` H§$nZr ~) Xoem§VJ©V H§$nZr
H$) naXoer H§$nZr S>) ~hþ amï´>r` H§$nZr

iv) ................. qH$_V nX²YVr _Ü ò EHy$U IM© Am{U `m_Ü ò {d^mJmbm OmVmo.
A) gr_m§V IM© ~) g§Yr IM©
H$) gamgar IM© S>) ~XbVm IM©

v) LIC ho ............... CXmhaU Amho.
A) go_r-JìhZ©_|Q> ~) ImOJr H§$nZr
H$) gmd©O{ZH$ H§$nZr S>) darb gd©

vi) .............. eoAa bm^m§e hm {ZíMrV AgVmo.
A) àmYmÝ` ~) g_^mJ
H$) G$UnÌ S>) darb gd©

3 P.T.O.
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~) Imbrb {dYmZo gË` qH$dm AgË` gm§Jm. (H$moUVohr nmM) (A{Zdm ©̀ àíZ) [5]

i) gmd©O{ZH$ H§$nZr Mo ImVo EH$ df© nyU© hmoÊ`mAmYr ^amd`mMo AgVo.

ii) gmd©O{ZH$ H§$nZrVrb EH$ H$m`Xoera g§ñWm Amho. Ë`mMr {Z{_©Vr XoemÀ`m {deof
H$m`X²̀ m§VJ©V Ho$bo OmVo.

iii) Xþ{_©i ^m§S>db ho {dH$gZerb XoemMr H$_Omoar Amho.

iv) ~hþamï´>r` H§$nÝ`m _moR²>`m à_mUmV amoOJmamÀ`m g§Yr {Z_m©U H$aVmV.

v) BHEL ho EH$ ImOJr joÌmVrb H§$nZr Amho.

vi) CËnmXZmMo IM© Am{U qH$_V `m§_Ü ò OdiMo g§~§Y ZmhrV.

à. H«$. à. H«$. à. H«$. à. H«$. à. H«$. 2 Vo à. H«$.  Vo à. H«$.  Vo à. H«$.  Vo à. H«$.  Vo à. H«$. 7 _Yrb H$moUVohr Mma àíZ gmoS>dm. _Yrb H$moUVohr Mma àíZ gmoS>dm. _Yrb H$moUVohr Mma àíZ gmoS>dm. _Yrb H$moUVohr Mma àíZ gmoS>dm. _Yrb H$moUVohr Mma àíZ gmoS>dm.

àíZ àíZ àíZ àíZ àíZ 2) EH$  _mbH$s `m àH$maÀ`m g§ñWoMo JwU Am{U Xmof ñnï> H$am. [12]

àíZ àíZ àíZ àíZ àíZ 3) g§̀ wº$ ^m§S>dbr H§$nZr åhUOo H$m`? g§̀ wº$ ^m§S>dbr H§$nZrMr d¡{eï>o ñnï> H$am. [12]

àíZ àíZ àíZ àíZ àíZ 4) ^maVmVrb ~hþ amï´>r` H§$nZrMr ŷ{_H$m ñnï> H$am. [12]

àíZ àíZ àíZ àíZ àíZ 5) doJdoJi`m qH$_V nX²YVr ñnï> H$am. [12]

àíZ àíZ àíZ àíZ àíZ 6) qH$_VrMo _hËd ñnï> H$am. [12]

àíZ àíZ àíZ àíZ àíZ 7) ^m§S>dbr A§XmOnÌH$ åhUOo H$m`? Ë`mMo ñdê$n ñnï> H$am. [12]

àíZ àíZ àíZ àíZ àíZ 8) WmoS>Š`mV CÎmao {bhm. (àË òH$s XmoZ) (A{Zdm ©̀ àíZ) [12]

A) EH$ _mbH$s g§ñWoMr d¡{eï>o ñnï> H$am.

~) ImOJr H§$nZrMo \$m`Xo.

H$) gmd©O{ZH$ g§ñWm.

S>) Z\$m _hmË_rH$aU.


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Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q No.1 & Q No.6 are compulsory.
2) Solve any 3 questions from remaining questions Nos. 2, 3, 4, & 5.

P2886 [Total No. of Pages : 2

SEAT No. :

Q1) A) Fill in the blanks (Attempt any 5 out of 6) [5]

i) Which segment do e-Bay, Amazon.com belongs ____.

a) B2B b) B2C

c) C2B d) C2C

ii) The dimension of e-commerce that enables commerce across
national boundaries is called ______.

a) Inter activity b) Global reach

c) richness d) Ubiquity

iii) Which of the following is part of four main types of e-commerce.

a) B2B b) B2C

c) C2B d) All of the above

iv) Which one of the following is not one of the major type of e-
commerce.

a) C2B b) B2C

c) B2B d) C2C

v) The best products to sell in B2C e-commerce are ______.

a) Small products b) Digital products

c) Special products d) Fresh products

vi) Which of the following describes e-commerce.

a) Doing business electronically

b) Doing business

c) Sale of goods

d) All of the above

P.T.O.
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Q1) B) Match the following. [5]

1) FTP a) Out sourcing

2) ATM b) Consumer to consumer

3) C2C c) First step

4) BPO d) Electronic Data Interchange

5) Registration e) File Transfer protocol

6) EDI f) Automatic Teller Machine

Q2) What is EDI? Explain steps to start EDI, & advantages & limitations of
EDI. [15]

Q3) Explain the E-payment solution, needs, advantages & limitations of E-payment
system. [15]

Q4) Explain the needs of E-commerce security, explain, who cybercrimes increase
day by day & who we control it. [15]

Q5) What is virtual market explain the advantages & limitations of virtual market.
[15]

Q6) Short Notes (Attempt any three) [15]

a) E-Banking Fraud.

b) Internet security.

c) Explain B2B with example.

d) E-Locking services.

e) Credit card.


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Instructions to the candidates:

1) Q. No. 1 and Q. No. 6 are compulsory.
2) Solve any three questions from remaining question nos. 2, 3, 4 and 5.
3) Figures to the right indicates full marks.

P2887 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Any Five): [5]

i) India’s first passenger train started in the year ____________.

a) 1923 b) 1853 c) 1943

ii) Ocean Transport mainly facilitates _______ Trade.

a) Inland b) International c) Wholsale

iii) _______ is cheapest mode of Transport.

a) Railway b) Roadways c) Waterway

iv) Heavy and bulky goods are transported by ________.

a) Helicopter b) Truck c) Train

v) Head quarter of Air India is at ___________.

a) New Delhi b) Hyderabad c) Pune

vi) In broad gauge distance between two tracks is ______ m.m.

a) 1435 b) 1676 c) 1000

B) Match the following: [5]

i) Air Transport a) Fast mode of Transport

ii) Land Transport b) National Highways

iii) Water Transport c) Ship

iv) Kandla port d) Gujarat

v) Pipeline Transport e) Petrol and Gas

f) Chennai

g) 1960

P.T.O.
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Q2) What is mean by ‘Transport’? Explain the benefits of Transport. [15]

Q3) State the benefits and limitations of Road Transport. [15]

Q4) State the features of Railway Transport. Review the progress of Indian Railway
transport since 1951. [15]

Q5) What is mean by Air Transport? State the features and importance of Air
Transport. [15]

Q6) Short Notes (Any three): [15]

a) Importance of Transport.

b) Employment opportunities in Transport sector.

c) Railway Gauge.

d) Importance of Railway Transport.

e) Significance of Water Transport.


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[5801]-213
F.Y. B.Com.

126B : INSURANCE AND TRANSPORT - II
(2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 d àíZ H«$. 6 gmoS>{dUo Amdí`H$ Amho.
2) àíZ H«$. 2, 3, 4 Am{U 5 `m àíZm§n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P2887

à.à.à.à.à.1) A) Jmiboë`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ^maVmVrb nhrbr àdmgr aoëdo ................ `m dfu gyê$ Pmbr.
A) 1923 ~) 1853 H$) 1943

ii) gmJar dmhVyH$s_yio ............ ì`mnma gwb^ hmoVmo.
A) Am§VX}er` ~) Am§Vaamḯ>r` H$) KmD$H$

iii) ............ hm dmhVyH$sMm gdm©V ñdñV _mJ© Amho.
A) aoëdo ~) añVo dmhVyH$ H$) Ob dmhVyH$

iv) AdOS> d _moR>çm à_mUmdarb _mb dmhVyH$ ............. Ûmao Ho$br OmVo.
A) hobrH$m°ßQ>a ~) Q´>H$ H$) aoëdo

v) EAa B§S>r`mMo _w»`mb` ............ òWo Amho.
A) Zdr {X„r ~) h¡Ðm~mX H$) nwUo

vi) ~«m°S>JoO (ê§$X_mnr) _Ü ò XmoZ aoëdo ê$im_Yrb A§Va ............. E_.E_. AgVo.
A) 1435 ~) 1676 H$) 1000

~) OmoS>çm Oyidm. [5]

i) hdmB© dmhVyH$ A) dmhVyH$sMm doJdmZ _mJ©
ii) O_rZrdarb dmhVyH$ ~) amï´>r` _hm_mJ©
iii) Ob dmhVyH$ H$) OhmO
iv) H$m§S>bm ~§Xa S>) JwOamV
v) Zi_mJ© dmhVyH$ B) noQ´>mob Am{U J¡g

\$) MoÞoB©
`) 1960
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à.à.à.à.à.2) dmhVyH$ åhUOo H$m`? dmhVyH$sMo \$m`Xo gm§Jm. [15]

à.à.à.à.à.3) añVo dmhVyH$sMo \$m`Xo d _`m©Xm gm§Jm. [15]

à.à.à.à.à.4) aoëdo dmhVyH$sMr d¡{eð>o gm§Jm. 1951 nmgyZÀ`m ̂ maVmVrb aoëdo dmhVyH$sÀ`m àJVrMr g{_jm H$am.[15]

à.à.à.à.à.5) hdmB© dmhVyH$ åhUOo H$m`? hdmB© dmhVyH$sMr d¡{eð>o d _hËd gm§Jm. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) dmhVyH$sMo _hËd

~) dmhVyH$ joÌmVrb amoOJma g§Yr

H$) aoëdo JoO (bmoh_mJ© _mnr)

S>) aoëdo dmhVyH$sMo _hËd

B) Ob dmhVyH$sMo _hËd


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Instructions to the candidates:

1) Question 1 and 6 are compulsory.
2) Solve any 3 from remaining Question No. 2, 3, 4 and 5.

P2888 [Total No. of Pages : 4

SEAT No. :

Q1) a) Fill in the blanks (any 5 out of 6): [5]

i) Content marketing is one form of _______ marketing.

ii) ________ refers to the application of marketing principles and
techniques through electronic media.

iii) When marketing activities are carried out in the rural markets, it is
known as __________.

iv) Salesmanship is one form of ________ selling.

v) Rural marketing have been influenced greatly by the _______
revolution.

vi) Salesmanship is an effective tool of ____________.

b) Match the following: [5]

i) Green Marketing A) A subset of large market having
particular needs

ii) Market B) Pamphlets

iii) Niche Market C) Ability to handle people
successfully

iv) Direct Advertisement D) Place where buyers and sellers
come together

v) Salesmanship E) Environmental Marketing

P.T.O.
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Q2) Define the term E-marketing. Write advantages and limitations of E-marketing.
[15]

Q3) Explain the term Rural marketing. Write in detail the features and importance
of Rural marketing. [15]

Q4) Write a detail note on Psychology of Salesmanship. (AIDCA). [15]

Q5) Define the term Salesmanship. Explain the features and qualities of Salesmanship.
[15]

Q6) Short Notes (any 3 out of 5): [15]

a) Qualities of Salesmanship.

b) Challenges of Rural marketing.

c) Green marketing.

d) Niche marketing.

e) Prospecting.


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126 C : MARKETING AND SALESMANSHIP - II
(CBCS 2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 d àíZ H«$. 6A{Zdm¶© AmhoV.
2) àíZ H«$. 2, 3, 4 d 5 n¡H$s H$moUVohr 3 àíZ gmoS>dm.

P2888

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (ghm n¡H$s H$moUVohr nmM) [5]

i) gm_J«r {dnUZ ho ............. {dnUZmMm EH$ àH$ma Amho.

ii) ........... åhUOo BboŠQ´>m°{ZH$ _mÜ`_m§Ûmao {dnUZ VËdo Am{U V§ÌmMm dmna H$aUo.

iii) Ooìhm J«m_rU ~mOmanoR>m§_Ü ò {dnUZ Ho$bo OmVo, Voìhm Ë`mbm ............ åhUyZ AmoiIbo

OmVo.

iv) {dH«$`H$bm hm ............. {dH«$sMm EH$ àH$ma Amho.

v) J«m_rU {dnUZmda ........... H«§$mVrMm _moR>m à^md nS>bm Amho.

vi) {dH«$`H$bm ho ............... Mo à^mdr gmYZ Amho.

~) OmoS>çm Owidm. [5]

i) h[aV {dnUZ A) {d{eï> JaOm Agboë`m _moR>çm ~mOmanoR>oMm Cng§M

ii) ~mOma ~) n{ÌH$m

iii) {ZMr (H$moZmS>m) ~mOma H$) bmoH$m§Zm `eñdr[aË`m hmVmiÊ`mMr j_Vm

iv) WoQ> Om{hamV S>) IaoXrXma d {dH«o$Vo EH$Ì òVmV Aer OmJm

v) {dH«$`H$bm B) n`m©daUr` {dnUZ
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à.à.à.à.à.2) B©-_mH}$qQ>J `m g§H$ënZoMr ì`m»`m {bhm. B©-_mH}$qQ>JMo \$m`Xo Am{U _`m©Xm {bhm. [15]

à.à.à.à.à.3) J«m_rU {dnUZ hr g§H$ënZm ñnï> H$am. J«m_rU {dnUZmMo d¡{eï>o d _hËd Vnerbdma {bhm. [15]

à.à.à.à.à.4) goëg_Z{enÀ`m _mZgemómda Vnerbdma Q>rn {bhm. [15]

à.à.à.à.à.5) {dH«$`H$bm `m g§H$ënZoMr ì`m»`m ñnï> H$am. goëg_Z{en Mr d¡{eï>o d JwU {bhm. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) goëg_Z{enMo JwU

~) J«m_rU {dnUZmMr AmìhmZo

H$) h[aV {dnUZ

S>) {ZMr (H$moZmS>m) {dnUZ

B) nyd}jU


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1) Question 1 and 6 are compulsory.
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3) Solve any Three Questions from 2 to 5.

P2889 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks by selecting a suitable choice (Any 5): [5]

i) ________ does not contribute to the standard development of
Business Ethics.

a) Competitive Behaviour

b) Creteria and values of Society

c) Personal life experience

ii) The internal effects of CSR are ____________.

a) Human resource management

b) Health and safety at work

c) All of the above

iii) The size of the Business can be well calculated ____________.

a) Number of employees and total profit

b) Total revenue and capital investment

c) All the above

iv) The ______ results of CSR are defined by Carroll.

a) 5 b) 3 c) 4

v) Independent Director is ___________.

a) No External relationship with other Directors

b) There is no relationship other than the directorship of the
company.

c) All of the above

vi) Existing known sources are refered to as ___________.

a) Supply b) Demand c) Supply chain

P.T.O.
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B) Match the pairs: [5]

A B

i) Establishment of CSD a) 1977

ii) Accounting Standard Board b) 1986

iii) Company Act c) 1992

iv) Consumer Protection Act d) 1973

v) Hart & Milstein e) 1956

f) 2003

Q2) What is moral value? Explain the concept of Business Ethics. [15]

Q3) What is corporate social responsibility? Explain the scope of corporate Social
Responsibility. [15]

Q4) What is Corporate Governance? Explain the principles and importance of
Corporate Governance. [15]

Q5) What is Sustainable Development? Explain the challenges that come with
Sustainable Development. [15]

Q6) Write short notes (Any three): [15]

a) Objectives of Sustainable Development.

b) Workplace Harassment and Discrimination.

c) Teaching.

d) The importance of Business Ethics.

e) Ethical Issues in Advertising.


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Total No. of Questions : 6]

[5801]-215
F.Y. B.Com.

126 D : CONSUMER PROTECTION AND BUSINESS ETHICS - II
(2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U 6 A{Zdm¶© Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) 2 Vo 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.

P2889

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ì`dgm`mÀ`m Z¡{VH$VoÀ`m _mZH$ {dH$mgmg ............ `moJXmZ XoV Zmhr.

A) ñnY©H$ dV©Z

~) g_mOmMo {ZH$f d _yë ò

H$) d¡̀ {º$H$ OrdZmMm AZŵ d

ii) gr. Eg. Ama. Mo A§VJ©V n[aUm_ ........... AmhoV.

A) _mZd g§gmYZ ì`dñWmnZ

~) H$m_mda Amamo½` Am{U gwajm

H$) darb gd©

iii) ì`dgm`mMm AmH$ma Mm§Jë`m àH$mao .............. _moObm OmD$ eH$Vmo.

A) H$_©Mmè`m§Mr g§»`m Am{U EHy$U Z\$m

~) EHy$U _hgyb Am{U ^m§S>db Jw§VdUyH$

H$) darb gd©

iv) CSR Mo ........... n[aUm_ H°$amobQ²>dmao n[a^m{fV Ho$bo Jobo AmhoV.

A) 5 ~) 3 H$) 4

v) ñdV§Ì g§MmbH$ ............. AgVmo.

A) BVa g§MmbH$m§er ~mø g§~§Y Zmhr

~) H§$nZrÀ`m g§MmbH$Vo ì`{V[aº$ AÝ` H$moUVohr g§~§Y Zmhr

H$) darb gd©

vi) ApñVËdmV Agboë`m kmV ómoVm§Zm .............. åhUyZ g§~moYbo OmVo.

A) nwadR>m ~) _mJUr H$) nwadR>m gmIir
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~) OmoS>çm Owidm. [5]

A ~

i) CSD ñWmnZm A) 1977

ii) boIm§H$Z à_mUZ _§S>i ~) 1986

(Accounting Standard Board)

iii) H§$nZr H$m`Xm H$) 1992

iv) J«mhH$ g§ajU H$m`Xm S>) 1973

v) hmQ>© Am{U {_bñQ>rZ B) 1956

\$) 2003

à.à.à.à.à.2) {ZVr_yë ò åhUOo H$m`? ì`mdgm{`H$ {ZVr_yë`m§Mr g§H$ënZm ñnï> H$am. [15]

à.à.à.à.à.3) H$m°nm}aoQ> gm_m{OH$ O~m~Xmar åhUOo H$m`? H$m°nm}aoQ> gm_m{OH$ O~m~XmarMr ì`már ñnï> H$am. [15]

à.à.à.à.à.4) H$m°nm}aoQ> JìhZ©Ýg åhUOo H$m`? H$m°nm}aoQ> JìhZ©ÝgMr VËdo Am{U _hËd ñnï> H$am. [15]

à.à.à.à.à.5) emídV {dH$mg åhUOo H$m`? emídV {dH$mg gmYVmZm òUmar AmìhmZo ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) emídV {dH$mgmMr C{ÔîQ>ço

~) H$m_mÀ`m {R>H$mUr hmoUmao N>i Am{U ôX^md

H$) {ejU

S>) ì`mdgm{`H$ {ZVremómMo _hËd

B) Om{hamVrVrb Z¡{VH$ g_ñ`m


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[5801]-216
F.Y. B.Com.

126 E : BUSINESS ENVIRONMENT & ENTREPRENEURSHIP - II
(CBCS 2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and 6 are compulsory.
2) Solve any 3 (Three) questions from the remaining question nos. 2, 3, 4 and 5.
3) Figures to the right indicate full marks.

P2890 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (any 5): [5]

i) Entrepreneurial behaviour is a preference for ________.

a) Innovation b) Old c) Stable

ii) Entrepreneurial behaviour is the study of ________ behaviour.

a) Human b) Land c) Road

iii) EDII stands for _____________.

a) Entrepreneurship Development Institute of India

b) Entrepreneurship Development Industries of India

c) Entrepreneurship Division Institute of India

iv) According to ____________ entrepreneurship is a creative activities.

a) Maslow

b) Joseph Schumpeter

c) Peter

v) District industries centers are located in each ____________.

a) District b) State c) Village

vi) BVG started in the year _________.

a) 1997 b) 2010 c) 2020

P.T.O.
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B) Match the following: [5]

Group - A Group - B

i) Biocon a) French

ii) Maharashtra Chamber of b) Kiran Muzumdar Shaw

commerce

iii) Entrepreneurship c) Established in the year 1988

iv) Entrepreneur d) Established in the year 1934

v) Maharashtra Centre for e) Creating something New

Entrepreneurship Development

Q2) Distinguishing between entrepreneurial and non-entrepreneurial. [15]

Q3) What is ‘Entrepreneurship’? Explain the importance and need of
Entrepreneurship. [15]

Q4) What do you mean by ‘Entrepreneurship’? Explain in detail role of local
NGO in promoting Entrepreneurship. [15]

Q5) What is ‘Entrepreneurs’? Describe in detail any one successfull Entrepreneur
from your area. [15]

Q6) Write short notes (Any 3): [15]

a) Habits of Entrepreneurs.

b) District Industries Centre (DIC).

c) Hanumant Gaikwad (BVG).

d) Role of Entrepreneurship in economy.

e) Maharashtra Chamber of Commerce.


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Total No. of Questions : 6]

[5801]-216
F.Y. B.Com.

126 E : BUSINESS ENVIRONMENT & ENTREPRENEURSHIP - II
(CBCS 2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U 6 gmoS>{dUo A{Zdm¶© Amho.
2) àíZ H«$. 2, 3, 4 Am{U 5 _Yrb Cd©[aV àíZm§n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P2890

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) CÚmoOH$s` dV©Z ho ............. gmR>r àmYmÝ` XoVmV.

A) Zd{Z_uVr ~) OwZo H$) pñWa

ii) CÚmoOH$s` dV©Z åhUOo ............. dV©ZmMm Aä`mg hmò .

A) _mZdr ~) O_rZ H$) añVm

iii) BS>rAm`Am` åhUOo ............ hmò .

A) ^maVr` CÚmoOH$Vm {dH$mg g§ñWm

~) ^maVr` CÚmoOH$Vm {dH$mg CÚmoJ

H$) ^maVr` CÚmoOH$Vm {d^mJ g§ñWm

iv) ............ `m§À`m _Vo CÚmoOH$Vm hr EH$ gO©Zerb CnH«$_ Amho.

A) _mñbmo ~) Omogo\$ ewånrQ>a H$) nrQ>a

v) {Oëhm CÚmoJ H|$Ð ho àË òH$ .............. `m {R>H$mUr Amho.

A) {Oëhm ~) amÁ` H$) Jmd

vi) ~r.ìhr.Or. Mr gwê$dmV .............. `m dfu Pmbr.

A) 1997 ~) 2010 H$) 2020
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~) OmoS>çm Owidm. [5]

JQ> - A JQ> - ~

i) ~m`moH$m°Z A) \«|$M

ii) _hmamï´> M|~a Am°\$ H$m°_g© ~) {H$aU _wPw_Xma em°

iii) CÚmoOº$m H$) 1988 Mr ñWmnZm

iv) CÚmoOH$ S>) 1934 Mr ñWmnZm

v) CÚmoOH$Vm {dH$mg _hmamï´> H|$Ð B) H$mhrVar ZdrZ V`ma H$aUo

à.à.à.à.à.2) CÚmoOH$ Am{U {~Ja-CÚmoOH$ `mVrb \$aH$. [15]

à.à.à.à.à.3) CÚmoOH$Vm åhUOo H$m`? CÚmoOH$VoMo _hËd Am{U JaO ñnï> H$am. [15]

à.à.à.à.à.4) CÚmoOH$ `mnmgyZ AmnUm§g H$m` AW©~moY hmoVmo? CÚmoOH$Vobm MmbZm XoÊ`mgmR>r ñWm{ZH$ NGO Mr
ŷ{_H$m g{dñVa ñnï> H$am. [15]

à.à.à.à.à.5) CÚmoOH$ åhUOo H$m`? Vw_À`m n[agamVrb H$moUË`mhr `eñdr CÚmoOH$mMo g{dñVa dU©Z H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) CÚmoOH$m§À`m gd`r

~) {Oëhm CÚmoJ H|$Ð (DIC)

H$) hZw_§V Jm`H$dmS> (BVG)

S>) AW©ì`dñWoVrb CÚmoOH$VoMr ŷ{_H$m

B) _hmamï´> M|~a Am°\$ H$m°_g©


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[5801]-217
F.Y. B.Com.

FOUNDATION COURSE IN COMMERCE - II (126 - F)
(CBCS 2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any 3 (Three) Questions from Question No. 2 to Question No. 5.
3) Figures to the right indicate full marks.

P2891 [Total No. of Pages : 4

SEAT No. :

Q1) a) Fill in the blanks (Any 5): [5]

i) _______ is a Electronic Commerce Companies.

a) Amazon India b) Myntra

c) India Mart d) All the above

ii) _______ is a characteristics of an entrepreneur.

a) Creativity b) Passion

c) Self confidence d) All the above

iii) ______ is the father of scientific management?

a) F.W. Taylor b) Max Weber

c) Henry Fayol d) S. George

iv) Management and administration are __________.

a) Same

b) Different

c) Partly same & partly different

d) Cannot say

v) _______ is the social objectives of the business?

a) Job creation b) To make a profit

c) To increase wealth d) Raising capital

vi) Business means ______________.

a) Commerce b) Industry and Commerce

c) Trade and Commerce d) Selling and buying of goods

P.T.O.
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b) Match the following: [5]

i) e-business a) Consumer to consumer

ii) B2C b) Buggy

iii) Outsourcing c) Efficient business

iv) Shopping cart d) Business to consumer

v) C2C e) Electronic business

Q2) Explain the role of the Entrepreneur in the social and economical development
of the country. [15]

Q3) What is E-commerce? Explain the importance of E-commerce. [15]

Q4) Explain the advantages of allowing FDI in retailing. [15]

Q5) Define the term ‘Administration’. State the features of administration. [15]

Q6) Write short notes (Any 3): [15]

a) Features of Management.

b) Organised Retailing.

c) Unorganised Retailing.

d) Types of E-commerce.

e) Types of entrepreneurships.


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Total No. of Questions : 6]

[5801]-217
F.Y. B.Com.

FOUNDATION COURSE IN COMMERCE - II (126 - F)
(CBCS 2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$_m§H$ 1 Am{U àíZ H«$_m§H$ 6 A{Zdm¶© AmhoV.
2) àíZ H«$. 2 nmgyZ àíZ H«$. 5 n ª̀V H$moUVohr VrZ àíZ gmoS>dm.
3) COì`m ~mOyMo A§H$ nyU© JwU Xe©{dVmV.

P2891

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ........... hr BboŠQ´>m°{ZH$ H$m°_g© H§$nZr Amho.

A) A_oPm°Z B§{S>`m ~) q_Ìm
H$) B§{S>`m _mQ>© S>) darb gd©

ii) ............ ho CÚmoJmMo d¡{eï> Amho.

A) gO©ZerbVm ~) CËH$Q>VoZo
H$) AmË_{dídmg S>) darb gd©

iii) ............ ho emór` ì`dñWmnZmMo OZH$ Amho.

A) E\$. S>ãë ỳ. Q>oba ~) _°Šg do~a
H$) hoÝar \o$`mob S>) Eg. Om°O©

iv) ì`dñWmnZ Am{U àemgZ ............ AmhoV.

A) g_mZ
~) {^Þ
H$) A§amV… g_mZ Am{U A§amV… {^Þ

S>) gm§Jy eH$V Zmhr
v) ............ ho ì`dgm`mMo gm_m{OH$ C{Ôï> Amho.

A) amoOJma {Z{_©Vr ~) Z\$m H$_{dUo

H$) g§nÎmr dmT> H$aUo S>) ^m§S>db C^maUr H$aUo
vi) ì`dgm` åhUOo .............

A) dm{UÁ` ~) CÚmoJ Am{U dm{UÁ`

H$) ì`mnma Am{U dm{UÁ` S>) dñVy {dH$Uo d IaoXr H$aUo
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~) OmoS>çm Owidm. [5]

i) B©-ì`dgm` A) J«mhH$ Vo J«mhH$

ii) B2C ~) ~½Jr

iii) AmCQ>gmo{g©J H$) H$m ©̀j_ ì`dgm`

iv) IaoXr H$mQ>© S>) ì`dgm` Vo J«mhH$

v) C2C B) BboŠQ´>m°{ZH$ ì`dgm`

à.à.à.à.à.2) XoemÀ`m gm_m{OH$ Am{U Am{W©H$ {dH$mgmV CÚmoOH$mMr ŷ{_H$m ñnï> H$am. [15]

à.à.à.à.à.3) B©-H$m°_g© åhUOo H$m`? B©-H$m°_g©Mo _hÎd ñnï> H$am. [15]

à.à.à.à.à.4) [aQ>ob _Ü ò E\$.S>r.Am`. bm nadmZJr XoÊ`mMo _hÎd ñnï> H$am. [15]

à.à.à.à.à.5) "àemgZ' `m eãXmMr ì`m»`m Úm. àemgZmMr d¡{eîQ>ço gm§Jm. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) ì`dñWmnZmMr d¡{eîQ>ço

~) g§K{Q>V {H$aH$moi {dH«$s

H$) Ag§K{Q>V {H$aH$moi {dH«$s

S>) B©-H$m°_g©Mo àH$ma

B) CÚmoOH$VoMo àH$ma


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Total No. of Questions : 4]

[5801]-218
F.Y. B.Com.

ADDITIONAL ENGLISH-II
127A-Prescribed Text Book : Pearls of Wisdom (By Board of Editors)

( CBCS 2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All quetions are compulsory.

2) Figures to the right indicate marks.

P2892 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any THREE out of FIVE. [15]

a) Name any two habits Gandhiji tried to possess when he was in England.

b) What are the seven stages of life discussed in the poem ‘All the world’s
a stage’?

c) Discuss the second childishness from the poem ‘All the world’s a stage’.

d) What were Gandhiji’s attempts to become English Gentleman?

e) Comment on Shakespeare’s attitude towards human life.

Q2) Attempt any THREE out of FIVE. [15]

a) ‘Captalism spreads ignorance’. How has G.B. Shaw proved this with
the example of pin making?

b) How does the machinery make man less intelligent, according to G.B.
Shaw?

c) Comment on the theme of love in ‘My Grandmother’s House’.

d) Comment on the relationship between the poet and her grandmother’s
house.

e) What does the house represent in my Grandmother’s House?

P.T.O.
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Q3) Attempt any TWO out of FOUR. [20]

a) Describe the character of Vera.

b) Why did Frampton rush out of home wildly?

c) What is the theme of the poem Laugh and be Merry’?

d) Comment on the relationship between time and death with reference to
the poem’ Laugh and be Merry’.

Q4) Attempt any FOUR out of SIX. [20]

a) What do we get out of ignorance. according to robert Lynd?

b) Narrate your one experience of the pleasure derived out of ignorance.

c) Give any two examples from the lesson ‘The Pleasures of Ingnorance’
to prove that the real pleasure lies in ignorance.

d) What is the main theme of the poem ‘To Daffodils’?

e) Explain the central metaphor from the poem ‘To Daffodils’?

f) What similarities does Robert Herrik draw between the daffodils and
human life?


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[5801]-219
First Year B.Com.

MARATHI (‘amR>r) - II

127 - B : ^mfm Am{U H$m¡eë¶ {dH$mg
(CBCS 2019 Pattern) (Semester - II)
Aä¶mgH«$‘ : 1) AO©boIZ d nÌboIZ

2) àemg{ZH$ ‘amR>r
3) àJV ^m{fH$ H$m¡eë¶o
4) Om{hamV boIZ

doi : 2½ Vmg] [ EHw$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo JwU Xe©{dVmV.

P2893

à.à.à.à.à.1) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

i) {XZm§H$ 25 ‘o 2022 amoOrÀ¶m "X¡{ZH$ gH$mi' ‘Yrb Om{hamVrÀ¶m AmYmao emgH$s¶
H$bm, dm{UÁ¶ d {dkmZ ‘hm{dÚmb¶, ‘w§~B© ‘Yrb "{b{nH$' ¶m nXmgmR>r ZmoH$arMm AO©
{bhm.

ii) Vw‘À¶m ‘hm{dÚmb¶mÀ¶m àmMm¶mªZm ~moZm’$mB©S>Mr ‘mJUr H$aUmam {dZ§Vr AO© {bhm.

~>) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

i) Vw‘Mm {‘Ì B¶Îmm 12 dr À¶m narjo‘Ü¶o g§~§Y ‘hmamï´>mVyZ àW‘ H«$‘m§H$mZo CÎmrU© Pmbm
Amho. Ë¶m~X²Xb Ë¶mMo A{^Z§XZ H$aUmao nÌ {bhm.

ii) B©-‘obMo ‘hÎd {bhm.

à.à.à.à.à.2) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

i) ghçmÐr ghH$mar nVg§ñWm, Ah‘XZJaÀ¶m H$m¶©H$mar ‘§S>imMr g^m Jwê$dma {XZm§H$
26/05/2022 amoOr bmoH$‘mÝ¶ {Q>iH$ g^mJ¥h, Ah‘XZJa ¶oWo gH$mir 11 dm. g§nÞ
Pmbr. gXa g ôMo B{Vd¥Îm {bhm.

ii) Vw‘À¶m ‘hm{dÚmb¶mV H$mo{dS>-19 à{V~§YmË‘H$ bgrH$aU {e{~a am~{dÊ¶mV ¶oV Amho.
Ë¶m{df¶rMo ‘m{hVrnÌH$ V¶ma H$am.

~) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

i) VmVS>rÀ¶m Xþê$ñVrÀ¶m H$m‘mH$arVm Vw‘À¶m n[agamVrb drO nwadR>m I§{S>V Ho$bm OmUma
Amho. Ë¶m~X²XbMo ‘hm{dVaU H§$nZrÀ¶m dVrZo Omhra {ZdoXZ V¶ma H$am.

[Total No. of Pages : 3

SEAT No. :

P.T.O.
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ii) Imbrbn¡H$s H$moUË¶mhr Xhm nm[a^m{fH$ g§km {bhm. [10]
i) Agreement
ii) Auditor
iii) Budget
iv) Capital
v) Circular
vi) Finance
vii) Login
viii) Report
ix) Save
x) Information
xi) Mobile
xii) Manager

à.à.à.à.à.3) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [15]

i) Imbrb CVmè¶mMo EH$ V¥Vr¶m§e gmam§eboIZ H$ê$Z Ë¶mg g‘n©H$ erf©H$ Úm.

OJmÀ¶m gwImbm d¡am½¶mMo {daOU KmbUmao Am{U Xþ:I amoJmbm ~ao H$aUmao Am¡fY åhUOo
EH$ J«§WdmMZM hmo¶. H$maU J«§Wm§‘Ü¶o AerM H$mhr {dbjU OmXÿ ^abobr AgVo. B©ídamÀ¶m
gd©JwUg§nÞVoMm n¥Ïdrdarb Iam à{V{ZYr Pmbm Va EH$ J«§Wg§J«hM hmoD$ eHo$b. ‘Zwî¶ hmoD$
eH$Uma Zmhr! EImÚm bhmZem H$m hmoB©Zm, J«§Wg§J«hmb¶m‘Ü¶o AmnU ~gbmo AgVm dV©‘mZ d

ŷV ¶m XmoZ H$mim§Vrb A§Va AmnUmg VmoSy>Z Q>mH$Vm ¶oVo Am{U JVH$mbr hmoD$Z Joboë¶m H$moUË¶mhr
‘hmZŵ md kmË¶m nwê$fmÀ¶m AmËå¶mer g‘ag hmoD$Z Ë¶mÀ¶m ghdmgmV d g§̂ mfUmV H$mi KmbdVm
¶oVmo.

Oer ^mdZm Vgo ’$i XoUmao J«§Wm{edm¶ Xþgao H$moUrhr Zmhr. BVHo$ AgyZhr Vwåhr Ë¶m§Zm Ogo
dmJdmb Vgo dmJÊ¶mBVH$s brZVm J§«Wm§À¶m A§Jr AgVo ho doJioM!  Ah{Z©e Aï>m¡àha Vw‘À¶m
godobm A{dlm§V gmXa hmoUmam J§«WmgmaIm Xþgam godH$ Vwåhmbm {‘iUma Zmhr. Vwåhr ñZohr ¶m
ZmË¶mZo Ë¶m§Zm Odi AmoT>bo Va ñZoh¶mà‘mUo  JmoS> dmJVrb d gd©ñdr {Z:ñn¥h AgmM g„m XoVrb.
{eî¶ ¶m ZmË¶mZo Vwåhr Ë¶m§Mm AmXa Ho$bm Var ‘mZdr Jwê$à‘mUo Vo Vwåhmg Z {eUdVm d Z gVm{dVm
{dÚm XoVrb. à{Vnjr ¶m ZmË¶mZo Vwåhr Ë¶m§À¶mer dmX Ama§{^bm Va Vw‘À¶m OS>~wÕrda Amnbr
H$mZg KmgyZ Vr gVoO H$aÊ¶mg qH$dm ¶w{º$dmXmZo Vwåhmg {Zê$Îma H$ê$Z Vw‘À¶m Jd©n[ahma
H$aÊ¶mg hr Ë¶m§Mr V¶mar AmhoM. Vw‘Mo AkmZ {H$Vrhr T>mo~i Agbo Var Vo Vwåhmbm hgyZ
{IOdUma ZmhrV. qH$dm ’${OVr H$ê$Z Vw‘Àmm nmUCVmamhr H$aUma ZmhrV. àË¶oH$ ‘mZdr Jwê$‘Ü¶o
Amnë¶m {à¶ {eî¶mnmgyZhr WmoS>r-~hÿV {dÚm qH$dm EImXr Var Jwê${H$„r bndyZ R>odÊ¶mMr
ImoS> AmT>iob. nU J«§WmBVH$m àm§Oi d {ZîH$nQ>r Jwê$ Xþgam {‘iUmaM Zmhr.
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ii) Imbrb B§J«Or CVmè¶mMo ‘amR>rV ^mfm§Va H$am.

A great part of arabia is desert. Here there is nothing but Sand
and Rock. The sand is so hot that you cannot walk over it with your bare
feet in the day time. Here and there in the desert are springs of water that
come from deep down under the ground. So deep that the sun can not
dry them up. These springs are few and far apart, but wherever there is
one, green grass very soon covers the ground all around it. Soon fig
trees and palm trees grow tall and graceful making a cool, green, shady
place around the spring. Such a place is called oasis.

~) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [15]

i) Vwåhm§g AmdS>Umè¶m H$moUË¶mhr EH$m XþMmH$sMr dV©‘mZnÌmgmR>r Om{hamV V¶ma H$am.

ii) "{’$Zmobo³g² nmB©n' Mr AmH$medmUrH$arVm Om{hamV V¶ma H$am.


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[5801]-220
F. Y. B.Com.

HINDI (qhXr) - II

127 - C : d¡H$pënH$ qhXr àíZnÌ - 1B
(CBCS 2019 Pattern) (Semester - II)

nmR²>¶nwñVH$ … "gm{hË¶ gm¡a^' g§nm. àmo. S>m°. gXmZ§X ^mogbo

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70

gyMZm … 1) g^r àíZ A{Zdm¶© h¢&
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¢&

P2894

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [16]

A) "H$bJr ~mOao H$s' H${dVm ‘| H${d Zo ZE Cn‘mZm| H$m à¶moJ H¡$go {H$¶m h¡?
~) H${d Ho$XmaZmW qgh Zo ‘m±Pr Ho$ nwb H$m dU©Z H¡$go {H$¶m h¡?
H$) "~mny Ho$ à{V' H${dVm ‘| H${d gw{‘ÌmZ§XZ n§V Or Zo ~mny H$mo ‘hm‘mZd Ho$ ê$n ‘| H¡$go {M{ÌV

{H$¶m J¶m h¡?
S>) "‘m± Ho$ {bE EH$ H${dVm' ‘|  ‘m± Ho$ XX©$Am¡a dmËgë¶ H$m {MÌU H¡$go {H$¶m J¶m h¡?

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [16]

A) amOXa~ma go {ZH$mbo OmZo na bwQ²>Q>Z qgh Zo ³¶m {H$¶m?
~) "gbm‘'  H$hmZr Ho$$H$‘b CnmÜ¶m¶ H$mo n§Ðh df© nhbo K{Q>V hþB© H$m¡Zgr KQ>Zm ¶mX AmVr h¡?
H$) "~mobZo dmbr Am¡aV' H$hmZr H$s Xrn{eIm H$m M[aÌ-{MÌU H$s{OE&
S>) "{MQ²>R>r' H$hmZr H$m g§Xoe ~VmVo hþE erf©H$ H$s gmW©H$Vm g‘PmBE&

à.à.à.à.à.3) A) {ZåZ{b{IV AdVaUm| ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE : [7]

i) ""A~H$s AJa bm¡Q>m Vmo
‘Zwî¶Va bm¡Q>±yJm
Ka go {ZH$bVo
g‹S>H$m| na MbVo
~gm| na M‹T>Vo
Q´>oZ| nH$‹S>Vo
OJh ~oOJh Hw$Mbm n‹S>m
{nX²Xr-gm OmZda Zht''>

[Total No. of Pages : 2
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ii) ""~pëH$ Ho$db ¶hr:
¶o Cn‘mZ ‘¡bo hmo JE h¢&
XodVm BZ àVrH$m| Ho$ H$a JE h¢ Hy$M&
H$^r ~mgZ A{YH$ {KgZo go
‘wbå‘m Ny>Q> OmVm h¡&''

Am) {ZåZ{b{IV AdVaUm| ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE : [7]
i) ""Bg ~mV H$m {dídmg hmo OmZo na {H$ ‘oam Pmobm CZ N>moH$am| Ho$

hmWm| ‘| n‹S> J¶m hmoJm, ‘¢ Bg ~mV go AZ{^k Zht Wm {H$
gOZo-g±daZo H$s Anojm CZH$s àmW{‘H$Vm noQ> H$s hmoJr Am¡a dh
gm‘mZ Am¡Zo-nm¡Zo ‘| {H$gr Imo‘Mo dmbo ¶m ‹T>m~o dmbo Ho$ hmWm| ‘| Om MwH$m hmoJm&''

ii) ""Jwê$Or H$hm H$aVo Wo {H$ O~ ‘¢ ‘a OmD±$ Vmo {MVm na ‘wPo
{MV Zht, noQ> Ho$ ~b gwbmZm& ‘¢ qOXJr ‘| H$^r "{MV' Zht 
hþAm& Am¡a {MVm gwbJmZo Ho$ g‘¶ T>mobH$ ~Om XoZm&''>

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm§o Ho$ CÎma {b{IE : [14]
A) g§dmX H$m¡eb H$s Ñ{ï> go AÜ¶¶Z, ‘ZZ Am¡a qMVZ H$m {ddoMZ H$s{OE&
~) dº$m H$mo lmoVmAm| H$s {Okmgm H$s H$Ð H¡$go H$aZr Mm{hE?
H$) AZwdmX H$s H$moB© EH$ n[a^mfm {bIVo hþE AZwdmX H$m ‘hÎd g‘PmBE&
S>) AZwdmX eãX H$s ì¶wËn{Îm Am¡a AW© na àH$me S>m{bE&

à.à.à.à.à.5) {ZåZ{b{IV nm[a^m{fH$ eãXm| ‘| go {H$Ýht Xg Ho$ qhXr n¶m©¶ {b{IE : [10]
i) Act
ii) Branch
iii) Credit
iv) Discount
v) Finance
vi) Gross
vii) Investment
viii) Ledger
ix) Management
x) Payment
xi) Report
xii) Zone


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Total No. of Questions : 6]

[5801]-222
F. Y. B.A./B.Com.

127 E : SINDHI (qgYr) - II
(2019 Pattern) (Semester - II) (Term - II)

Time : 2½ Hours] [ Total Marks : 70

Instructions to the candidates:
1) Q. No. 1 and Q. No. 6 are compulsory.
2) Solve any 3 (three) questions from the remaining quesions nos. 2, 3, 4 and 5.

P2896

Q1) A) ho{R>¶{Z ‘m§ {H${Z {~ 5 ‘| Imb ^[a¶mo :> [5]

(~g ñQ>mn, H¡$X, ^mCa{Z, JmB§Xm, nwamUr nr‹T>r, Zo‘>)

i) ~moY àH$me Io ............. ‘§Oya hþB©.

ii) ZB© nr‹T>r E§o ........... nr‹T>r Io JS> hbUmo Oê$ar Amho.

iii) AmaVr ............ Vo hr ah§Xr hþB©.

iv) OmZH$sA Omo ......... hmo gw~h Omo n§Y H$aU Omo.

v) ‘hmÝV E§o nmar ‘§{Xa ‘| .......... hþAm.

vi) n§O ............ ‘| {hH$‹S>r ôU {Zem.

~) Omo‹S>m {‘bm¶mo : [5]

i) XmoñV A) IV‘

ii) XþI ~) ZaJ

iii) ñdJ© H$) AÝ¶m¶

iv) Ý¶m¶ S>) gwI

v) ewé B) Xþí‘Z

[Total No. of Pages : 2
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Q2) ""hþOo  BÝgm’$'' JµOb ‘| emBa N>m Vmo g‘Pm¶U Mmho? [15]

Q3) {Zem Or {H$aXma {ZJmar H$[a¶mo. [15]

Q4) AmaVr ~g ñQ>mn Vo N>m H§$Xr hþB©? [15]

Q5) ~moY àH$me H¡$X ‘| {dhU N>m ‘§Oya ³¶mo? [15]

Q6) H§${h§ {~ {Q>{Z {df¶{Z Vo Wmo‹S>o ‘| {bImo : [15]

i) ‘mo~mBb ‘m§ ’$mBXm E| ZwH$gmZ

ii) ‘mC Omo ß¶ma

iii) ‘wqhOmo ß¶mamo gnZmo

iv) nmU Vo ^m{‹S>Uw

v) CS>oamobmb


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F.Y.B.Com (Semester-II)

127F: Persian Gen (Paper - II)

  (2019 Pattern)

P-2897

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

 Instructions to the candidates :
Attempt all the questions.

Q.1) Write the Persian equivalents of English and English equivalent

of Persian terms : (any 14) [14]

Amount, Net, Partner, Product, Project Service, Share, Shortage, 

Below Poverty line limited Comapany.



Q.2) Write a short note on any three of the following : [12]



Q.3) Write the summery of any two of the following stories : [10]



Q.4) Write a detailed note on Life and Literary works of the

following writers : (any two) [14]



SEAT No.

Total No. of Pages : 2



Q.5) A) Translate any two of the following into Urdu, English or

Marathi or Explain it : [14]

 

















 

 


       





 


B) Explain or Translate the following English passage into your

own language : [6]

Kids of primary classes are expected to write simple and short

English essays on various topics. Some general essay topics

include my school essay, my best friend, my family, my self,

my favourite teacher, my hoby etc.

Writing short English essays lets kids explore their own ideas

and Opinions on a certain subject. English language essay

writing refines kid's creative thinking skills as well. 


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F.Y.B.Com (Semester - II)

URDU-II
127G: Additional Urdu  

 (CBCS-2019 Pattern) 

P-2898

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

   

 (1
 (2

  :1 




 2 




 3 


 

  4 




[10]

SEAT No.
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   4 
 
  

 5 



 

  :5 









 

 

 



[06]

[10]
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F.Y. B.Com. (Semester - II)

127H : FRENCH - II
(2019 Pattern)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Use of dictionary is not allowed.

P2899
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Total No. of Questions : 6]

[Total No. of Pages : 8
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F.Y. B.Com. (Semester - II)

127I : GERMAN GENERAL - II
(2019 Pattern) (Basic Course)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All question are compulsory.
2) 30 Marks internal Assessment.
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F.Y. B.Com. (Semester - II)

127I : GERMAN GENERAL - II
(2019 Pattern) (Advanced Course)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All question are compulsory.
2) Use of a dictionary is not allowed.
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   P.T.O.

Q1) a) Translate in to Marathi or English (1 out of 2) : [5]
‘amR>r qH$dm B§J«OrV ^mfm§Va H$am. (2 n¡H$s 1) :
i) ¶Wm amï´>§ {ZaÝVa§ à¶ËZñ¶ CnbãYoíM CÀMVa§ ñVa§ ñn¥eoV² VWm ì¶{³VJVofw, gm‘y{hHo$fw M

H$m¶©H$aUjoÌofw CËH$fm©{YJ‘§ à{V gXm à¶VZ§ M, ^maVñ¶ gd}fm§ ZmJ[aH$mUm§ H$V©ì¶§
^doV²&

ii) Vñ¶ dMZ§ lwËdm {dH«$‘m{XË¶: ^mÊS>m[aH$‘mhÿ¶ A^UV², ""^mo ^mÊS>m[aH$! A‘w§ òw{VnmR>H§$
^mÊS>maJ¥ho ZrËdm ‘hmKm©{U aËZm{Z Xe©¶& VVmo@¶§ ¶mdpÝV aËZm{Z, AÝ¶mZ{n dñVy{Z
J¥{hVw{‘ÀN>{V, VmdpÝV J¥hUVw''&

b) Translate in to Marathi or English (1 out of 2) : [5]
‘amR>r qH$dm B§J«OrV ^mfm§Va H$am (2 n¡H$s 1) :
i) AnXmo XÿaJm‘r M gmjamo Z M npÊS>V:&

A‘wI: ñ’w$Q>³³Vm M ¶mo OmZm{V g npÊS>V:&
ii) AmnËgw am‘: g‘aofw ^r‘: XmZofw H$U©íM Z¶ofw H¥$îU:&

^rî‘: à{Vkmn[anmbZofw {dH«$mÝVH$m¶}fw ^dmÄOZo¶:&&

c) Fill in the blanks : [5]
[aH$må¶m OmJm ^am :
i) ¶Wm ga{V Or‘yVo ............... J«rî‘nr{S>V:&

A) ZH$mo ~) MmVH$mo

H$) H$mH$mo S>) ewH$mo

P2901 [Total No. of Pages : 3
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ii) ............. gånVo: gwajU‘² B{V H$V©ì¶‘²&

A) ì¶{³VJV ~) gmd©O{ZH$

H$) àmMrZ S>) Adm©MrZ

iii) Vpñ‘Ýg‘¶o amkm ............. Aï>mXeH$mo{Q>gwdU© XÎm‘²&

A) ^moOZmW©‘² ~) XmZmW©‘²

H$) VmaUmW©‘² S>) nmofUmW©‘²

iv) amjgoä¶: gwVm§ öËdm .............. nwat ¶¶m¡&

A) am‘ñ¶ ~) XeaWñ¶

H$) amdUñ¶ S>) OZH$ñ¶

v) eÌm¡ {‘Ìo nwÌo ~ÝYm¡ ‘m Hw$ê$ ¶ËZ§ ............... gÝYm¡&

A) àJ«h ~) AmJ«h

H$) {dJ«h S>) gL²>J«h

Q2) a) Reference to the context (1 out of 2) : [5]
gg§X ©̂ ñnï>rH$aU H$am (2 n¡H$s 1) :
i) ""Ëd{¶ Ed‘m¡Xm¶ª {dX²¶Vo MoV², V{h© Apñ‘Z² qghmgZo g‘wn{de&''
ii) gmd©O{ZH$gånVo : gwajU§, qhgm¶m: àË¶m»¶mZ§ M&

b) Reference to the context (1 out of 2) : [5]
gg§X ©̂ ñnï>rH$aU H$am (2 n¡H$s 1) :

i) ‘m Hw$ê$ YZOZ¶m¡dZJdª ha{V {Z‘ofmËH$mb: gd©‘²&
ii) lo¶: ñdY‘} {ZYZ§ {h bmoHo$ ^¶mdhmo@gmo naY‘© CÀM¡:&

c) Write true or false (5 out of 6) : [5]
MyH$ qH$dm ~amo~a {bhm (6 n¡H$s 5) :
i) e§H$amMm¶mªMm OÝ‘ ‘hmamï´>mV Pmbm.

ii) ‘moh‘wX²Ja: nmR>mV 13 íbmoH$ AmhoV.
iii) 1895 gmbr JUoemoËgd gmd©O{ZH$ Pmbm.
iv) ^maVr¶ amÁ¶KQ>Zm 1949 gmbr ñdrH¥$V Pmbr.

v) {edamÁ¶moX¶‘² ‘hmH$mì¶mMr e¡br d¡X^u Amho.
vi) àíZmoÎma ñdê$nmMo g§dmXmË‘H$ gŵ m{fV åhUOo àho{bH$m hmo¶.



[5801]- 227 3

Q3) a) Write a detailed answer (1 out of 2) : [12]
g{dñVa CÎma {bhm (2 n¡H$s 1) :

i) Write a summary of the lesson Mulakartavyani.

‘ybH$V©ì¶m{Z nmR>mMm gmam§e {bhm.

ii) Write a summary of the lesson Ganeshotsavah.

JUoemoËgd: nmR>mMm gmam§e {bhm.

b) Write a short note (1 out of 2) [8]
Q>rn {bhm (2 n¡H$s 1)
i) ‘ybH$V©ì¶o Fundamental duties.
ii) amOm {dH«$‘m{XË¶ King Vikramaditya.

Q4) a) Write a short note (2 out of 1) : [12]
g{dñVa CÎma {bhm (2 n¡H$s 1) :
i) Explain with examples - Vakovakya, Apahruti and Kutashloka.

dmH$modm³¶, Anh²ZwVr Am{U Hy$Q>íbmoH$ gmoXmhaU ñnï> H$am.
ii) Write a summary of the lesson Mohamudgarah.

‘moh‘wX²Ja: nmR>mMm gmam§e {bhm.

b) Write a short note (1 out of 2) : [8]
Q>rn {bhm (2 n¡H$s 1) :
i) AÝVambmn - Antaralap
ii) {edamÁ¶moX¶‘² - Shivarajyodayam.


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    

  (1
 (2

Q.1 Translate the following sentences into English or Urdu

 (any Ten)

  2     (1

 4     (3 

  6     (5 

 8      (7 

 (10      (9 

 12   (11 

 14     (13 

  (15 

Q.2 Explain with Reference any five of the following couplets:[20]

 ___    (1  

 ___  (2  

SEAT No.
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 ____  3

 ___  4

  ___  5

 __  6

 __  7

 ___    8

Q.3 Answer any ten of the following questions in Arabic.  [20]

 (3   2     (1

 (6   5     (4

  (9   8     (7

  (12   11     (10

 (15  14     (13

Q.4 Write a letter to the Manager of a Company in Arabic.            [10]


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Q1) a) Fill in the blanks: [5]

i) Indian constitution is passed and accepted on ________ by Assembly.

ii) Science is the body of _________.

iii) The term artificial intelligence is introduced by _________.

iv) _________ is the highest literacy state in India.

v) Disaster management Act is passed in _______ in India.

b) Select the proper option from the options given below and rewrite the
sentences. [5]

i) ________ parliamentary system is adopted in India  by costitution.

(Bicamerial, Presidential, Single house)

ii) The world ‘Democracy’ comes from the Greek Word ________.

(Demos, Democracia, Kratika)

iii) Statement of problem involves in the ________ stage of scientific
method.

(Conclusion, Experiment, observation)

iv) _______ percent of world’s population lives in India.

(16.5, 17.5,15.0)

v) Modernizing process of the developed countries is called ______.

(cultural modernisation, primary modernisation, Economic
modernisation)

P.T.O.
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c) State whether the following statements are true or false. [10]
i) Indian judiciary is dependent on government.

ii) Rajya Sabha is the lower house of the parliament.

iii) Polar satellite Launch vehicle is the long form of PSLV.

iv) The National Food security Act passed by UPA government.

v) Steam engine is invented by James Walt.

vi) Hypothesis shows relationship between many variables.

vii) Arya Chanakya was associated with mathematics and Astronomy.

viii) India is the second largest populous country in the World.

ix) Modernisation is first begin in European countries.

x) Lord William Bentick is known in India for reforms in Education.

Q2) Define democratic government. Explain merits and demerits of democratic
government. [10]

Q3) Define science. Explain the characteristics of science. [10]

Q4) Population control is important measure for improvement in standard of living.
Discuss. [10]

Q5) What is disaster management? Explain importance of disaster management.[10]

Q6) Write short notes (Any four) [20]
a) Fundamental rights.

b) Rule of Law.

c) Natural science.

d) Hypothesis.

e) Population explosion.

f) Water pollution.


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gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo Amdí¶H$ AmhooV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr 3 àíZ gmoS>dmdo.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P2903

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [5]

i) ^maVr¶ g§{dYmZ ........... amoOr g§gXoÛmao nm[aV Am{U pñdH¥$V Ho$bo Amho.

ii) {dkmZ ho ............. Mo eara Amho.

iii) H¥$Ìr‘ ~wÕr‘Îmm hr g§H$ënZm ............. ¶m§Zr ‘m§S>br.

iv) ......... ho ^maVmVrb gdm©{YH$ gmjaVm Agbobo amÁ¶ Amho.

v) AmnÎmr ì¶dñWmnZ H$m¶Xm ^maVmV .................. dfu nmg Pmbm.

~) {Xboë¶m n¶m©¶mn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb {dYmZo nwÝhm {bhm. [5]

i) ^maVr¶ amÁ¶KQ>ZoZo .......... g§gXr¶ àUmbr pñdH$mabr Amho.

({ÛJ¥hr, AÜ¶jr¶, EH$b J¥hr)

ii) bmoH$emhr hm eãX ............. J«rH$ eãXmnmgyZ Ambm Amho.

(Demos, Democracia, Kratika)

iii) d¡km{ZH$ nÕVrÀ¶m ........... AdñWoV g‘ñ¶oMo {dYmZ AmgVo.

({ZîH$f©, à¶moJ, {ZarjU)

iv) OJmVrb bmoH$g§»¶on¡H$s ......... Q> o̧$ bmoH$g§»¶m ^maVmV dmñVì¶ H$aVo.

(16.5, 17.5,15.0)

v) {dH$gmZo XoemÀ¶m AmYw{ZH$sH$aU à{H«$¶og ................ åhUVmV.

(gm§ñH¥${VH$ AmYw{ZH$sH$aU, àmW{‘H$ AmYw{ZH$sH$aU, Am{W©H$ AmYw{ZH$sH$aU)
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H$) Imbrb {dYmZo MwH$ H$s ~amo~a Vo gm§Jm. [10]

i) Ý¶m¶ì¶dñWm emgZì¶dñWoda Adb§~yZ Amho.

ii) amÁ¶g^m ho g§gXoMo d[að> g^mJ¥h Amho.

iii) PSLV Mo nyU© ê$n Polar satellite Launch vehicle Amho.

iv) amï´>r¶ AÞgwajm H$m¶X¶mMr KmofUm ¶wnrE gaH$maZo Ho$br.

v) ñQ>r‘ B§OrZMm emoY Ooåg d°Q> ¶m§Zr bmdbm.

vi) J¥{hVHo$ (n[aH$ënZm) AZoH$ KQ>H$m§‘Yrb g§~§Y Xe©{dVo.

vii) Am¶© MmU³¶ ho J{UV Am{U IJmobemñÌmer g§~§{YV AmhoV.

viii) ^maV hm OJmVrb Xþgam gdm©{YH$ bmoH$g§»¶m Agbobm Xoe Amho.

ix) AmYw{ZH$sH$aUmMr gwê$dmV gd©àW‘ ¶wamo{n¶Z XoemV Pmbr.

x) bm°S>© {dë¶‘ ~|{Q>H$ e¡j{UH$ gwYmaUm§gmR>r ^maVmV n[a{MV Amho.

à.à.à.à.à.2) bmoH$emhr gaH$maMr ì¶m»¶m H$am. bmoH$emhr gaH$maMo JwU Am{U Xmof ñnîQ> H$am. [10]

à.à.à.à.à.3) {dkmZmMr ì¶m»¶m H$am. {dkmZmMr d¡{eï>¶o ñnï> H$am. [10]

à.à.à.à.à.4) amhUr‘mZmV gwYmaUm H$aÊ¶mgmR>r bmoH$g§»¶m {Z¶§ÌU hm ‘hÎdmMm Cnm¶ Amho. MMm© H$am. [10]

à.à.à.à.à.5) AmnÎmr ì¶dñWmnZ åhUOo H$m¶? AmnÎmr ì¶dñWmnZmMo ‘hÎd g‘OyZ gm§Jm. [10]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) ‘wb ŷV A{YH$ma

~) H$m¶X¶mMo amÁ¶

H$) Z¡g{J©H$ {dkmZ

S>) n[aH$ënZm

B) bmoH$g§»¶m {dñ’$moQ>

’$) Ob àXþfU


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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P2904 [Total No. of Pages : 2

SEAT No. :

Q1) a) Fill in the Blanks [5]

i) A file created using Word is saved________facility in file menu.

ii) Mistakes can be checked using______facility in Word.

iii) Space between lines can be changed using ______facility in Word.

iv) Internet helps to ________information.

v) _______is the main page of the website.

b) Match the Pairs [5]

List 1 List 2

i) www A) is the network of computers
across the world

ii) ctrl C + ctrl V B) Ms-office

iii) Software C) World wide web

iv) Ctrl A D) Copy + Paste

v) Internet E) Select All

Q2) Write Short Note on the following (Any 2) (5Marks each) [10]

a) Home page of a website

b) Advantages of an Email

c) Autocorrect in Ms-word.

P.T.O.
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Q3) Answer the following (Any 4) [20]

a) Explain Chart in Excel.

b) Explain features of Ms-Word.

c) Explain different function available Ms-Excel.

d) Explain the Tables in Ms Word.

e) Explain features of Internet.

Q4) Answer the following Question (Any 1) [10]

a) What is an Internet? Explain applications of Internet in day to day life.

b) Explain advantages and disadvantages of Ms-Office.


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Q1) A) Fill in the blanks (Attempt any 5 out of 6): [5]
a) Coupons, small gifts, and other incentives are part of ________.

i) Sales promotion ii) Advertising
iii) Customer service iv) Publicity

b) _______ is used to influence the way an organization is perceived
by various groups of stakeholders.
i) Direct marketing ii) Public relations
iii) Sales promotion iv) Advertising

c) An event can be described as
i) A public assembly for the purpose of celebration, education,

marketing or reunion
ii) A Movie making
iii) A Video editing
iv) Attending a large gathering

d) ________ Stimulates sales during a slump season.
i) Coupon ii) Price off offer
iii) Rebate/cash refund offer iv) Premium

e) ______ is the lifeblood of any organization.
i) Selling ii) Advertising
iii) Communication iv) Marketing

f) The first step in organizing an event is _________.
i) to choose the appropriate venue
ii) to promote the event
iii) to draw a proper budget
iv) to identify the audience

P.T.O.
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B) Match the following: [5]
Column A Column B

a) Sampling i) if the purchaser is not
satisfied with the product
a part of their money is
returned.

b) Coupons ii) certificate that reduces
prices.

c) Demonstration iii) Given to consumers to
increase their interest in the
product.

d) Premium offers iv) The manner of using the
product

e) Money Refund Offers v) Temporary price reduction
which increases the
instinct of the buyers.

Q2) Short notes (any 2 out of 4): [10]
a) Public Relation.
b) Presentation Skills.
c) Techniques of Sales Promotion.
d) Objectives of Event Management.

Q3) a) Explain the need and importance of Sales Promotion. [8]
OR

Distinguish between sales Promotion and Advertising.
b) Discuss the tools in Public Relations. [7]

OR
Explain the types of public relations.

Q4) a) Discuss in detail the factors to be considered for managing any event.[8]
OR

Discuss the types of events.
b) Explain the concept of personality development in detail. [7]

OR

Explain the importance of communication skills.


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Q1) A) Fill in the blanks (Any Five) : [5]
a) A person who is liable to pay any amount of tax, penalty & interest

is called as _____.

b) Children hostel allowance is exempt upto Rs. _____ per month per
child for maximum of two children.

c) The standard deduction for income from house property is allowed
at _____ % of net annual value.

d) Gift in kind received from employer is exempt from tax maximum
upto Rs. _____.

e) Annual value of self-occupied house is to be consider as _____.

f) Dearness Allowance is taxable under the head income from _____.

g) Municipal Tax is to be charged on the _____ value of the property.

P.T.O.
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B) Match the following : [5]
Group - A Group - B

i) Indian Agricultural Income a) Residing 182 days or more
in India

ii) Resident Individual b) Exempt upto 12% of salary

iii) Employer contribution c) Fully exempt
to RPF

iv) Interest credited to RPF d) Fully Taxable

v) Bonus e) Exempt upto 9.5% of salary

Q2) Write Short Notes (Any Two) : [10]

a) Income.

b) Previous year.

c) Residential status of an individual.

d) Income Exempt from tax (Section 10).

Q3) Solve the following : [15]
Mr. Nilesh is an employee of ABC Ltd., Pune. He has given the following
details of his income received during the previous year 2021-22.
– Basic salary Rs. 18,000/- p.m.
– D.A. (60% applicable for retirement benefit) Rs. 10,000/- p.m.
– C.C.A. Rs. 8,800/- p.a.
– Bonus Rs. 18,000/- p.a.
– Children Education Allowance Rs. 120/- p.m. per child for two children.
– House Rent Allowance Rs. 4,500/- p.m. (Mr. Nilesh paid rent of

Rs. 4,000/- p.m. for the house)
– Project Allowance Rs. 2,000 (Actual expenditure Rs. 1,700/-).
– Mr. Nilesh contributed to his R.P.F. amounting to Rs. 32,600/- and the

matching contribution was met by company.
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– Interest credited to R.P.F. @ 12% p.a. is Rs. 24,000/-.
– Company has provided 1650 cc car for official as well as private purpose.

The car is owned by the company and all the expenses are met by the
company.

– He has been provided with free gas & electricity of Rs. 5,500/- during
the year.

– Mr. Nilesh paid professional tax of Rs. 2,500/- during the year.
Compute his taxable income from Salary for the A.Y. 2022-23. Assuming
that, Mr. Nilesh has not exercised the option of section 115 for new tax
regime.

Q4) Solve the following problem : [15]

Mr. Krishna submits the following information of his property.
Details of Property H-A H-B

- Nature Letout for Letout for
Residence Business

- Municipal value 1,35,000 1,80,000

- Fair Rent 1,40,000 1,78,000

- Standard Rent 1,32,000 1,72,000

- Rent received 1,38,000 1,68,000

- Municipal Tax paid
by Krishna – 14,000
by tenant 12,500 –

- Insurance 2,000 2,000
- Interest on Loan 51,800 51,400

Determine taxable income from House property for the A.Y. 2022-23.


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Q1) A) Fill in the blanks: [5]

a) Which of the following is valid loop statement in C.

i) If ii) If-Else

iii) For iv) Switch

b) Array index starts with _______.

i) 1 ii) 2

iii) 0 iv) –1

c) ________ is an exit controlled looping statement.

i) while

ii) if

iii) do-while

iv) for

d) Array of characters is known as _______.

i) Loop ii) String

iii) Switch iv) Functions

e) _______ if statements means one if statement inside another if
statement.

i) nested ii) long

iii) multiple iv) new

P.T.O.
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B) Match the following [5]
i) strcpy () a) group of elements of the same data type
ii) switch statement b) Reuse of code
iii) while c) Use of break and default statement
iv) Function d) To copy the string
v) Array e) checks condition at start

Q2) Write short note on (Any Two) [10]
a) Function call
b) While Loop
c) Array

Q3) Answer the following (Any FOUR) [20]
a) Write a C program to display maximum number of two numbers.
b) Explain switch-case statement with syntax.
c) Explain for loop with syntax.
d) How one dimensional array is declared in C? Explain.
e) Write a C program to print multiplication table of a number.

Q4) Answer the following (Any ONE) [10]
a) Explain if-else statement with syntax and example.
b) What is String? Explain any two string function with example.


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Q1) A) Fill in the blanks: [5]

a) What type of media does hoardings belongs to?

i) Print media ii) Outdoor media

iii) Electronic media iv) Other media

b) The second stop in budgetory process is ________.

i) Budget presentation ii) Preparation of budget

iii) Budget control iv) Budget implementation

c) Questioning copy includes _________.

i) Humar ii) Questions

iii) Suggestions iv) None of the above

d) An _______ must attract the attention of the prospective customers.

i) Ad copy ii) Write up

iii) Song iv) Colour

e) Selection of media depends upon the ________ available for
advertising.

i) Time ii) Space

iii) Material iv) Funds

P.T.O.
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B) Match the following: [5]

A B

a) Affordable method i) Newspaper

b) Decline stage ii) Print media

c) Newspaper magzines iii) Product life cycle

d) Classified advertising iv) Headline

e) Attractive line in advertising v) Method of ad-budget

Q2) Short Notes (Any 2): [10]

a) Limitations of Print media.

b) Percentage of Sales method.

c) Ethics in Advertising.

d) Importance of rural advertising.

Q3) a) Explain any five elements of advertising layout for print media. [8]

OR

Write types of advertising copy.

b) State and explain methods of advertising budget. [7]

OR

Explain factors affecting advertising budget.

Q4) a) State various career opportunities available in the field of marketing and
advertising. [8]

OR

Write a detail note on ‘Role of Woman’ in advertising.

b) State and explain need and importance of rural advertising. [7]

OR

Discuss the measures to make rural advertising more effective.


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Q1) A) Choose appropriate answer (Any Five) [5]
a) ______ tax has been abolished by the GST.

i) Income Tax ii) Service Tax
iii) Professional Tax iv) Municipal Tax

b) GST was introduced in India wtih effect from 1st July _______.
i) 2017 ii) 2018
iii) 2020 iv) 2019

c) _______ was the first state in India to pass GST bill.
i) Maharashtra ii) Assam
iii) Gujarat iv) Karnataka

d) IGST is applicable to _________.
i) Intrastate supplies ii) Export supplies
iii) Interstate supplies iv) All of the above

e) ______ tax is applicable where the location of the supplier and the
place of supply are in two different States.
i) CGST ii) IGST
iii) SGST iv) CGST+SGST

f) The chairman of ‘GST council’ in India is ________.
i) Home Minister ii) Prime Minister
iii) Finance Minister iv) Chief Minister

P.T.O.
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B) State whether the following statement is True or False. [5]
i) Maximum rate prescribed by GST law for interstate supply is 30%.
ii) The nature of supply inter-state shall be ascertained based on the

provisions prescribed under Section 7 of the IGST Act, 2017.
iii) IGST and GST Compensation Cess will not be payable at the time

of removal from warehouse.
iv) Tax collected at the time of supply of goods or services is called

Output tax.
v) Central Goods and Services Tax is applicable to interstate

transactions.

Q2) Write short notes (Any Two) [10]
a) Payment of tax under GST laws
b) Penalty under GST
c) Taxable value for levy of IGST
d) Contains of GSTR-4

Q3) Answer the following questions (Any Four) [20]
a) Explain the various provisions for Offences under GST.
b) What are the different forms for Returns and their due dates under GST

Laws?
c) Who is required to furnish the details of outward supplies in return form?
d) What are the provisions of record maintained by works contractor?
e) Explain the various contents of GSTR -1.
f) Which Records to be maintained by agent as per Rule 56(11)?

Q4) Answer any One of the following questions. [10]
a) What are the provisions regarding Reverse Charge under GST?
b) What are the different provisions for filing return under GST?


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